HEEC/HISIO0A%EE (B : HXREH)

[ JEIE!
oy pOReEE

TR by 7@5 Ofi‘ = 3 =
1 i FEFOFEN
> P IR TLBY P2
3 o IR TL\BY —C DR

% | 4 15 ) BOTROSIE

% | 5 it " BRAE

% | 6| @ |H—| % [SBATORDEUHEGLIFIRE

% | 6| @ |#%| % |FATsHr-TORE

% | 6| 0 |B—| % |RaBoERARSANG)
7 @ |- AHHEROIR L S0 > [=ptocuer—2
7| @ |Ex AR BT BRE > [=ptoTuer—2
8| @ |m— SME A O AR > [=ptocuer—2
8 | @ |mM SMEA A DR > [=ptecuer—2
9 =3 ROV TEE

% 10| © |&— SHUIHIE 2 [EELTIaY—ER

% |10]| @ |m% SR GHE

% |11 1 SEFHETED L CELT—
12 Hi— BEFHEN OB HONBES | 2 [BELTLEY—ER
13| @ |e— BEE BN, D555 AOES > [IEsLTuay—E2
13| @ |z " BRRAS
14| @ |- BT IIEN DB HAOSIERE| 2 [IBHLTIBY—CR
14| @ |mas BB
15 i SR8 ORIFEL > [=ptecuer—2
16| @ |&— SEEIBNN 035575 OB > [=pticuer—2
16| @ |mat ) BAEIRAE
17| @ |a— SEBN OBEAAOTIEORE | 2 [BELTLEY—ER
17| @ |ma " BIRNE
18 i EBNSTOLELRSONAESR | 2 [IRIELTLEY—EX
19 1 LELLTOBEREYT > [EsLTusy—ex
20 . SRR ERNY T > [IEsLTusy—ex
| @ |m— EBY T ONE RS AOEE > [IEsLTuay—e2
21| @ | BB
2| @ |w=— ERN S T ERSADSIEORE | 2 [IRRLTLBY X
2| @ |z " BRERNE

66 ~—




1 |23 @ EfsikinatiE (BCP) ORE
1 |23 @ n REICLDMR
ot |23 ® n ERETECVVRVIER 558
Bt |24 © KEROmZ FE5HktsTEl (BCP) ORIE
1 124 @ n ERDFEATUORVER
1 |25 B0 RBIFEADOY —-E IR BELTLBY—ER
EFsikiistiE (BCP) OIRTE
| 26 WEBEEZ B0 4R
| 27 B LE (B T EREE
| 27 n ERDFAS ETORE
| 28 I\GZA> NIFEROERFRIRE
|29 Y—E20E_EDORHOBFEAE
30 [ENVEMR RN IIER

67 <—




BEEICH/BRT SV 0OXAKE (B FXEHEH)

OiER
M7 O BEFEEFICSTIAMEROWKREGIBREIZDONT
n WHE | 28| KHE| B i
RIVR| R &R ]
T|HhT WLWT| T | &
= | 5F = =
T T T| <
s L) Ly oLy
v 5 5| 1
~ H Al LY
E ~ ~
w a A
% i i
% % %
P n A
& 1 1,994 189 686] 571| 475 713
1000 95 344/ 286/ 238/ 37
fE2 BENEGR—LALT)-E 695 39) 183 174| 263] 36
RILT EHRANE 1000 56 263 250/ 378/ 52
Al I 288 19] 81| 65 107 16
i 1000 66 281 226/ 372 56
P 73 5/ 17 15| 32 4
fTE)iRE 1000| 68 233 205 438 55
- 434 27 113] 111 1e4] 19
BhXiz 1000 62 260/ 256/ 378/ 44
3 0 1 0 2 0
| ANE
RENE 1000 00| 333 00 667 00
4 = _ 68 3 11 27 26 1
R (3—hATA) 1000 44 162 397 382 15
. 185 12| 46| 66| 54 7
IFANNE
LR 1000]| 65 249 357 292/ 38
B EI%E (Hae- &8 -1858 26 5 12 7 2 0
) 1000 192 462| 269| 77/ 00
o et 106 13 52| 30 9 2
,_L. PA 3
AHFBITXIE 1000| 123 491 283 85 19
e - 1721 271 78] 471 15 5
5 ,_4“.,"5 = 1
ATREXIEAR 1000 157| 453 273| 87| 29
e - 208  38] 128] 87 39 6
S S 4ok < 43 3 )
TR IEBE 1000| 12.8| 430 292/ 131| 20
e - 47 2| 25| 13 5 2
RSy =
T EHXE 1000 43 532 277| 106 43
e m 5 0 0 3 2 0
SRS 1000 00 00/ 600/ 400/ 00
HEEFER (T IIL—THR— 195 18 60 63 48 6
L) 1000 92 308/ 323 246/ 31
e 16 0 2 8 6 0
n
HEERARTX R 1000[ 00 125/ 500/ 375 00
-t 371 27| 162| 124] 48| 10
|E::l: i vl
REREXE 1000 73 437 334/ 129] 27
_ - 1 0 0 1 0 0
.-l--E M=k »; =
BENMREREREXE 1000 00 00| 1000 00/ 00
A= ar b 415 26| 173] 145 57] 14
BREFTAY—ER 1000 63/ 417 349 137 34
e e = 53 4 24| 16 8 1
REMSHAXE 1000 75 453| 302/ 151| 19
PEALE AR X R (BHEE 1 0 0 0 1 0
FEANE AFTHEER) 1000 00| 00 00/ 1000 00
. o 2 0 0 0 2 0
12 ( \la rxrd
EALRARXIE 1000 00 00/ 00| 1000 00
STEMEREE (EEEEL 225 25 47 57 86 10
LR AFRHEER) 1000 11.1| 209| 253| 382 44
i 86 8| 16| 24| 35 3
HEABITRIE 1000 9.3 186/ 279/ 407 35
e - 89 8| 18] 25| 35 3
HBUE X % 1000 90/ 202 281 393 34
. 1 138 16| 27 35 56 4
X ‘ \IJE Ez)\: vy
At RAB S R 1000 116/ 196/ 254| 406 29
iﬂ%iﬁiﬂi%t“/@—(i% 7 0 1 5 1 0
XER) 1000 00| 143 714/ 143] 00
i EES R EE 7 — (AR 10 2 4 4 0 0
BEY) 1000 200 400/ 400/ 00/ 00
= 8 0 3 2 3 0
R —FXiE 1000[ 00 375 250/ 375/ 00
. . 166 8| 40| 47| 63 8
% —
ERRY—ER 1000 48| 24.1| 283| 380 438
- 11 0 6 2 3 0
LR 1000[ 00 545 182 273] 00
4 0 0 4 0 0
Toft 1000 00 00| 1000 00/ 00
g 1 0 0 0 0 1
1000 00 00/ 00| 00| 1000

68 ~—

WMESIC/HET 27 0 X&EE (B 1 £XER)



M7 @ AMER-EE-BRICELT, ZETHIERELTWAZLEEHYFETH,
n P K Gl B EBH| PN | 2% k¥ <0 | &
A A & | ANE M| % | EF #J O
% % ¥ Iz | -~ B M® 9% AT | &
7 17 & B | EF % it | BIt |+
o) o) » B ER S FED D D
5 #® T ¥ | T ) 1%7": &\7": T&
A =y & 5 | BN BIAD | A |
) ) ) B BE | H | T WG
=1 =l 2 a8 9 ° H LA =48 A
il i L n | BEK VBB | A ER [0))
7 I S I AR m| & T|LH| A
X X Ly AN I [0)) 15 7
= = E 2] B ~ B
Ly Ly E3 [ & 54 59
RE FE3 %= = D
e 9) El % L
2 % 1,994 830 1,071 1,004 488] 310] 370] 574] 523] 304 82
1000 416| 537 504| 245/ 155 186/ 288 262 152 41
fi2 BENEGGR—LAILT)-BE 695 351| 436/ 304/ 157| 117| 125/ 193] 196 78 18
RILT EFHRANE 1000 505 62.7| 437/ 226/ 168/ 180 278 282 112 26
‘é?;-:’**_ R e 288 154 186| 135 62 48 55 88 88 36 11
e 100.0| 535/ 646 469 215/ 167 191 306 306 125 38
e et s 73 40 51 33 17 19 13 19 22 10 4
fTEyiRE 100.0| 548 69.9| 452| 233| 260/ 178/ 260 301 137 55
= 434 237 280 195 92 84 82| 134 121 58 13
BEXE 1000 546| 645 449 21.2| 194| 189 309 279 134/ 30
. 3 1 0 3 1 0 2 0 0 1 0
i ANE
RENE 1000]| 333/ 00| 1000 333 00 667 00 00 333 00
_ _ _ 68 42 44 26 19 14 21 19 19 16 2
g8 S,q—
R (3—hATA) 1000 618 647/ 382 279/ 206/ 309 279 279/ 235 29
- 185 98 113 69 52 37 49 60 48 38 4
mae 100.0| 530/ 61.1| 37.3| 28.1| 200/ 265 324/ 259 205 @22
B EI%E (Bae- &8 -T858 26 6 10 13 4 4 3 7 3 2 3
) 1000 23.1| 385 500 154| 154 115/ 269/ 115 7.7/ 115
et 2 et b 106 36 35 53 32 19 15 36 26 24 6
,_q PA 3
AHBATXIE 100.0| 340/ 330/ 500 302 17.9| 142 340 245 226 57
. - 172 52 78 92 35 13 28 61 53 22 9
5 '_L|“|:“£ nrd 1]
ATREXIEAR 1000 30.2| 453| 535 203| 76/ 16.3| 355 308/ 128 52
s o 208 103] 137| 146 72 27 49 97 89 62 12
e s Gk <5 422 13 F
AT RBEXIEBA 100.0| 346 46.0| 490 242/ 91| 164 326/ 299/ 208 40
. - 47 19 16 23 14 11 9 12 8 10 3
Ky =
A EHXE 100.0| 40.4| 340/ 489 298| 234| 191| 255 170/ 213| 64
e 5 3 3 3 1 2 1 1 4 0 0
SRS 1000 60.0| 60.0| 600 200/ 400/ 200 200 800 00 00
HEAEFER (T IL—THR— 195 86 99 72 59 31 50 56 49 40 13
L) 100.0| 44.1| 508 369 30.3| 159/ 256/ 287 251| 205 6.7
i 16 13 11 3 5 4 5 11 9 3 0
o
FEERARX IR 1000 81.3| 688 188 313 250 313 688 563 188/ 00
. o 371 138] 218 265 95 79 69 94 84 54 11
|E::l: i xxvy
REREXE 100.0| 372| 588| 71.4| 256/ 21.3| 186 253| 226/ 146/ 30
_ - 1 0 1 0 0 1 0 1 1 0 0
--ug 1) |8 == ‘g =
BENMREREREXE 1000 00| 1000/ 00| 00| 1000/ 00| 1000/ 1000 00/ 00
s o s 415 152| 238/ 296/ 112 88 81| 104 91 66 12
BREFTAY—ER 100.0| 36.6| 57.3] 71.3| 270/ 212| 195 251| 219 159 29
Y = 53 24 27 36 17 12 11 11 11 11 1
REMSHAXE 100.0| 45.3| 509| 679 321| 226/ 208 208 208 208 1.9
PEAVWE AR X iR (11 R 1 1 0 0 1 0 0 0 0 0 0
FEANE ARTHEER) 100.0( 1000/ 00| 00| 1000/ 00/ 00 00 00 00 00
. e 2 1 0 2 1 0 2 0 0 1 0
15 ( \|E rxvd
AR AR R 1000 500/ 00| 1000/ 500/ 00| 1000/ 00 00/ 500 00
STEMSR T IE (EEEEL 225 104| 124 126 43 31 28 66 52 39 16
WRAFRTEER) 100.0| 46.2| 55.1| 56.0/ 19.1| 138 124| 293| 23.1| 173 7.1
- 86 47 47 47 18 13 11 27 23 18 4
AT 1000 547 547 547 209| 151| 128 314 267 209 47
. 89 48 50 48 17 13 11 28 25 18 4
i 5 f—] 3
IS X R 100.0| 539| 56.2| 539 19.1| 146| 124 315 281 202 45
. et o 138 64 77 74 23 19 17 46 37 22 10
X ‘ \|E E;J\: vy
AL RAR X IR 100.0| 46.4| 558 536/ 167 138/ 123 333 268 159 72
HEEB X R4 — (£ 7 2 3 5 3 3 2 1 3 2 0
XER) 1000 286 429 714| 429| 429| 286 143 429 286/ 00
iR R E o 2— (AR 10 4 3 5 3 1 2 4 4 2 1
BEY) 100.0| 400| 300/ 500 300/ 100/ 200/ 400 400/ 200/ 100
- 8 6 6 3 0 2 2 3 2 2 0
R —FXiE 1000 750/ 750/ 375/ 00| 250 250 375 250 250 00
. . 166 84/ 120 74 46 34 33 58 63 28 2
23 —
ERRY—ER 1000 506| 72.3| 446| 277 205 199/ 349/ 380/ 169 12
- 11 4 5 6 3 1 1 3 2 2 0
LR 100.0| 36.4| 455/ 545 27.3] 9.1 91| 27.3] 182 182/ 00
4 3 2 1 3 3 1 1 2 2 0
Toft 1000 750/ 500| 250/ 750/ 750/ 250/ 250 500/ 500 00
P 1 0 0 0 0 0 0 0 0 0 1
1000 00/ 00/ 00/ 00/ 00 00 00 00 00 1000
69 ~—

WMESIC/HET 27 0 X&EE (B 1 £XER)



18 @ BEFXBICEHFEANEAAMDZFANKRIZONT

n R = = *x i
T A B E
Iz A n 5t &
= n %
3| 8
A D | &
n 3 L
T Y T
A SRR A
) VA )
Ly
5 1004 268 295 361] 1027| 43
1000] 134/ 148 181 515 22
2 BENEGR—LAILD)-E 695 133] 110] 148| 288 16
REELT EFRNE 100.0f 19.1| 15.8| 21.3| 414| 23
WEH— | = o im 288| 49| 39 67| 122] 11
EXx RI47 %% 1000] 170 135 233 424/ 38
PR 73 9 16/ 19| 25 4
TohiEE 1000 123 219/ 260 342 55
- 434 75 67| 98] 184 10
Baxiz 1000 173 154 226 424 23
ez 3 1 1 0 1 0
RENE 1000 333/ 333 00 333 00
o . _ 68| 16/ 13| 16| 23 0
= Hi Q —
FHART (a—FRAT A1) 1000 235 19.1| 235/ 338 00
e 185 37 30| 40| 77 1
EENE 1000] 200 162 216 416/ 05
B EI%E (Bae- &8 - 1808 26 2 6 3 15 0
) 1000 77/ 231 115/ 577 00
et et 106 11 14 10| 69 2
MABATXIE 1000] 104/ 132/ 94| 651 19
e - 172 21 17 33 98 3
S ok ]
AITHE S IRALL 1000 122/ 99| 192/ 570/ 1.7
e - 298| 30/ 61| 55 145 7
e J
MM EBE 1000| 101| 205/ 185 487 23
o - 47 4 4 4 34 1
MAEEXIE 1000| 85 85 85 723 21
e 5 1 1 1 2 0
B3 5 R B 1000] 200/ 200/ 200/ 400/ 00
HREEFER (U IIL—THR— 195 28 22 44 98 3
1) 1000 144/ 113 226/ 503| 15
et 16 5 2 5 4 0
MR AR X iR 1000] 313 125 313 250 00
= e ez 371 45| 55 56| 208 7
18
REREXIE 1000 121 148 151 561 1.9
EEHMRRERERE W oo o 1 0
A 1000 00 00 00 1000/ 00
e ot s 415 54/ 59| 66| 227 9
BRESFTAH—ER 1000 130 142 159 547 22
e s - 53 6 9 8| 30 0
REMFSHRXIE 1000] 113 170 151 566/ 00
PEALE AR X iR (181 E 1 0 0 0 1 0
AR AFTHEES 1000 00 00 00 1000/ 00
e — m 2 1 0 0 1 0
Y=
AN RARTX R 1000 500/ 00 00 500/ 00
SHEEH S E (BEEEEL 225 21 38 34| 128 4
WRAFRTEER) 100.0f 9.3| 16.9 15.1| 56.9 1.8
1w 86 7 16| 15| 47 1
HEBITX IR 1000 81/ 186 174 547 12
e - 89 70 16| 17| 48 1
MR 7 X iR 1000 79/ 180/ 191 539 1.1
- b1z 138 12| 26] 22 76 2
18 AF %
REARNR R iR 1000] 87 188 159 551 14
HMEEB X R — (£TE 7 1 1 0 5 0
XER) 100.0 14.3| 143| 00| 714 00
i EE B 24— (AR 10 0 4 0 6 0
BH!) 1000 00 400 00 600/ 00
_ - 8 0 2 5 1 0
Heh—FXiE 1000 00/ 250 625 125 00
. R 166] 34| 30/ 37| 65 0
H —
ERRY—EX 1000] 205/ 181 223/ 392/ 00
. . 11 5 1 0 5 0
= H
R 1000] 455 91| 00 455 00
4 0 0 1 3 0
TOf 1000 00 00 250 750/ 00
i 1 0 0 0 0 1
1000] 00 00 00 00| 1000

70—

WMESIC/HET 27 0 X&EE (B 1 £XER)



g @ SEAAMEZEZFANDIZH-DTHDEREIZDONT

n x| B F R = F = = £ 3
NG A F by # A A A #A =]
Ev | A & ) +» & h n 5] %
| B & P sl X Iz Vil 1<
it | B & 1t & E3 % Py E
B/sE| & ) Iz & i3 5 +» H
NDE| D = # 18 =3 a i El
*xXq2 B R S |~ X R B
ESs R &R ¥ ) DX k Vil Z
K9 | B & P *t ) e &
H5| & (Z 3] It i Iz )]
=1 IC DA * 4 E5] B
| i = 7 El L
n | = A ~ 3 =
2| I3 B D 1%
x| B & X b
V| & | FE | & -
7| & BE =& i
Y| HE B il
7| A
s
2 % 1,994 716] 1216] 1408] 496] 620/ 804] 352] 560/ 416/ 169
1000 359/ 610/ 706| 249 311] 403 177 281 209 85
2 BENEGR—LAILI)-E 695 236| 387| 503| 177| 226| 387| 140 200/ 165 42
REELT EFRENE 1000 340/ 557/ 724| 255/ 325/ 557/ 20.1| 288 237 6.0
Lo H— RiEE 288 109| 162 213 79| 100| 167 54 96 62 16
EX A= 100.0| 37.8| 56.3] 740/ 274| 347/ 580 188/ 333 215 56
J— 73 32 45 45 21 31 35 19 25 24 9
TTEJJ#EEX
1000 438| 61.6| 616 288 425 479/ 2600 342| 329/ 123
BEIE 434 154] 248| 306] 125] 145] 249 92| 141] 104 29
100.0| 355/ 57.1| 705| 28.8| 334| 574/ 212/ 325 240 6.7
- 3 1 1 1 2 1 0 1 2 2 0
| =3
RENE 1000 33.3| 333| 333/ 667 333 00 333 667 667 00
- e o= 68 33 45 47 26 24 24 22 22 26 5
R (3—hAT 1) 1000 485/ 66.2| 69.1| 382 353 353 324 324/ 382 74
A 185 69| 118 121 62 61 61 41 63 46 11
S =E
EiEITE 1000 37.3| 63.8| 654| 335/ 330/ 330 222/ 341 249 59
BILEIE (HEeE- 55 -TEA 26 9 16 16 4 8 8 1 12 3 6
&) 100.0| 346/ 615 615/ 154/ 308/ 308 38 462 115 231
et s b 106 42 68 74 24 33 32 13 33 21 11
RABITXIE 1000 396| 642 698/ 226/ 31.1| 302/ 123 311] 198 104
e = 172 52  116] 129 38 47 39 24 41 24 15
e S Gk i)
RAREXIEAR 100.0| 30.2| 67.4| 750/ 221| 27.3| 227/ 140 238 140 87
s = 208 104] 195 221 70 95 98 57 87 65 19
2 g 4ok T
TR X EBI 100.0| 349| 654| 742/ 235 319/ 329/ 191 292| 218 64
e e - 47 15 32 36 12 15 14 5 16 11 3
MAEEXIE 100.0| 319/ 68.1| 766/ 255/ 319/ 298 106/ 340 234/ 64
ot 5 3 4 4 2 2 3 0 3 1 1
B3 £ R B 100.0[ 60.0| 80.0| 800/ 400/ 400/ 600 00/ 600 200/ 200
HREEFER (T IIL—TH— 195 71 132] 135 45 60 69 48 58 56 17
L) 100.0| 36.4| 67.7| 69.2| 23.1| 308 354 246/ 297 287 87
N 16 10 12 11 7 4 4 4 6 4 1
MR AR iE 1000 625/ 750/ 68.8| 438/ 250/ 250 250 375 250 6.3
R R IE 371 145/ 235 245 97| 118 139 67 97 78 47
- 100.0| 39.1| 63.3| 660 26.1| 318/ 375 181 26.1| 210 127
- . - 1 1 1 1 1 1 1 1 1 1 0
=z U=
EESHMUREREXE 100.0[ 100.0| 100.0| 100.0| 100.0| 100.0| 100.0| 100.0| 100.0| 100.0| 0.0
N 415 170| 262| 278 104| 137 150 71 114 88 51
BEREFTAH—ER 100.0| 410/ 63.1| 670/ 251| 330/ 361 171| 275 212/ 123
I = 53 27 34 29 16 13 18 13 10 14 9
REMSSHRXIE 1000 50.9| 64.2| 547/ 302 245 340 245 189 264/ 170
EALVE ARTXE (fRAL® 1 0 1 1 0 0 0 0 1 0 0
FEAULR ARTHEER) 100.0 0.0| 100.0| 1000, 0.0 0.0 0.0 00| 100.0 0.0 0.0
. 4w 2 1 1 1 2 1 0 1 1 2 0
=1 J=]
EANR AR % 100.0[ 50.0| 50.0| 500/ 1000 500/ 00| 500/ 500/ 1000/ 0.0
HTEMR T IE (BEEEEL 225 90| 129| 148 61 81 98 43 75 55 25
WRAFRTEER) 1000 400 57.3| 658 27.1| 360 436 19.1| 333| 244| 111
P 86 37 46 55 22 27 31 14 25 17 11
HEBITXIE 100.0| 430/ 535/ 640/ 256/ 314/ 360 163 291/ 198 128
— = 89 38 48 58 25 28 33 15 28 17 11
IR X iR 1000 427 539/ 652| 281 315 37.1| 169 315 19.1| 124
< ot 138 56 78 87 39 48 63 28 48 33 19
=1 1B AR Sk 3 1
AN RARS X R 100.0| 406| 56.5| 630/ 283| 348/ 457 203 348 239 138
i EREI R E o A— (EE 7 6 4 6 1 3 3 1 3 1 1
XER) 1000 85.7| 57.1| 857 143| 429 429 143] 429 143 143
i EEZE 2 — (AR 10 2 6 7 4 4 4 1 4 1 2
BH!) 100.0[ 20.0| 60.0| 700/ 400| 400/ 400/ 100/ 400/ 100/ 200
_ - 8 2 8 7 2 4 3 0 3 3 0
Heh—HXiE 100.0[ 250/ 1000/ 875/ 250/ 500/ 375 00/ 375 375 00
- . 166 65 98| 131 46 66| 113 37 57 45 6
=73 —
ERRY—EX 1000 39.2| 590| 789| 277 398 681 223 343 27.1 36
- - 11 5 6 4 3 2 3 2 5 5 0
g g
R 1000 455/ 545/ 36.4| 27.3| 182 27.3| 182 455 455 00
4 2 2 3 1 2 1 1 1 2 0
Tt 100.0[ 50.0| 500| 750/ 250/ 500/ 250 250 250/ 500 00
[ 1 0 0 0 0 0 0 0 0 0 1
1000] 00/ 00/ 00/ 00/ 00 00 00 00 00 1000
71 R—

WMESIC/HET 27 0 X&EE (B 1 £XER)



WMESIC/HET 27 0 X&EE (B 1 £XER)

10D AHTE, EANEL Y —EXBEMELRRELE-TROTE( THE—ESR) ZEMLTOETH, ZELLIENHYFETH,

n 2 | %2 | A | R
- - 5 B
L L ZAN &
1= f h
el el 2
& & 1=
A\ hY
h7) A
3 Ly
1,904 1174 567] 185 68
& 100.0[ 589| 284/ 93] 34
2 BENEGR—LANILI)-E 695 294| 290 79 32
REELT EFENE 1000 423| 417 114 46
WoH— | imep 288l 114] 128 33 13
EX RITikeE 1000| 39.6| 444/ 115 45

mrime 73 41 19 9 4

4 =]

fraixeE 1000 562/ 260 123] 55

- 434 209] 157 51 17

BBXiE 1000| 482/ 362/ 118/ 39

. 3 2 0 1 0

i s

RENE 1000 66.71 00 333 00
_ N _ 68 49 13 6 0
GR:! a—

R (L 3—hAT 1) 1000[ 721/ 191/ 88/ 00
- s 185 139 30 10 6
3 =3

EENE 1000 75.1| 162 54| 32

BILEIE (HEeE- 4R -TEA 26 20 5 0 1

&) 1000[ 769/ 192/ 00/ 38

kel /= b 106 66 30 6 4

RIATBITXIR 1000| 623 283 57 38

e = 172 126 28 15 3

p r_"n”:\; y i)

RITHE S IRALL 1000 733/ 163 87 17

e - 298l 195 70 24 9
T iyl

IR RBE 1000 65.4| 235 8.1 3.0

e - 47 30 15 0 2

I EE X IR 1000/ 638/ 319/ 00| 43
o rim 5 5 0 0 0

B3 55 R B 1000/ 1000, 00/ 00/ 00

HREEFER (T IIL—THR— 195 135 34 23 3

L) 1000[ 692 174/ 118/ 15
s 7 me g 16 16 0 0 0

SEEX AR 1% 100.0[ 1000/ 00 00/ 00
o e v i 371| 254 80 30 7

1=}

REREXR 1000 685/ 216 8.1 19

- -y 1 1 0 0 0
o =5

EENMEREREXE 100.0[ 1000/ 00 00/ 00
N 415 291 80 34 10

BREFTAH—ER 1000[ 701| 193] 82 24
s s - 53 40 11 1 1

1%'5":&%““"5%? 1000| 755/ 208 19 19

EAVNREARTX & (1BHLE 1 0 1 0 0

EANULEARTHESR) 1000[ 00| 1000/ 00/ 00
. e tm 2 2 0 0 0

= 18

EARE AR X R 1000 1000, 00 00/ 00

HEMER T E (EREEEL 225 151 46 21 7

WRAFRTEER) 1000 67.1 204 9.3 3.1

ety 86 60 17 7 2

HEBITXIR 1000| 698 198 81 23

- - 89 63 17 7 2

IR X iR 1000 708/ 191 79| 22
< gt 138 95 26 13 4

=1 = g

BE#““‘*E’{%E 1000 688 188 94| 29

R R A — (EF 7 5 1 1 0

XER) 1000 71.4| 143] 143/ 00

i EE R EE 2 — (AR 10 5 5 0 0

BEY) 1000 500/ 500 00/ 00

. - 8 7 1 0 0

Hrh—Briz 1000/ 875/ 125/ 00/ 00
. 166 77 69 17 3

MEERY—EX 1000[ 46.4| 416 102| 18

- . 1 6 3 2 0

£ sE

A& 100.0[ 545/ 273/ 182 00

4 3 1 0 0

Tt 1000f 750/ 250 00/ 00

s 1 0 0 0 1

1000 00/ 00/ 00| 1000

712 R—2



12 EEXBIEVT. BETBESVOHLFDFAERICONT

n 0 1 3 6 1 2 3 =3
A S S § 1 1 1 [l
2 5 1 § § A %
A A 0] 2 3 LA
A 0 0 +
A A
& % 1,994 1302] 296] 201 68 33 13 14 67
1000 653/ 148 101 34/ 17/ 07/ 07 34
EipA BENEGR—LAILD)-E 695 538 53 37 16 6 4 2 39
REELT EFRNE 1000 774 76/ 53 23] 09/ 06/ 03 56
WBH— R EE 288|[ 200 27 22 7 3 2 0 27
EX A= 100.0| 69.4| 94| 76/ 24/ 10/ 07 00 94
P 73 14 12 21 13 5 3 3 2
fTohi%E 1000 19.2| 16.4| 288/ 178/ 68| 4.1 41 2.7
= 434 295 43 38 18 5 4 3 28
BBXiE 1000 680/ 99 88 41 12| 09/ 07/ 65
i 3 1 0 2 0 0 0 0 0
| AN
RENE 1000] 333/ 00 667 00/ 00 00 00 00
_ N _ 68 15 14 11 11 4 5 8 0
g #] Sy
BRI (3—hAT 1) 100.0[ 22.1| 206/ 162/ 162/ 59| 74/ 118 00
A= 185 55 29 30 30 19 10 9 3
3 s
EEE 100.0| 29.7| 157 162| 162| 103| 54/ 49 16
B EIE (Hae- &5 1858 26 23 2 0 1 0 0 0 0
) 1000 885/ 77| 00/ 38 00/ 00 00 00
ksl /= e b 106 98 3 0 1 0 0 1 3
MABITXIE 1000]| 925/ 28 00 09 00/ 00 09 28
e = 172 161 4 0 0 1 0 0 6
b gl Frl
MR EAR 1000 936/ 23| 00/ 00/ 06/ 00 00 35
e - 298| 235 27 13 9 2 2 1 9
4 gl g 1)
MM RBE 1000 789 9.1 44/ 30/ 07/ 07/ 03 30
- = 47 40 2 0 2 0 0 1 2
MAEEXIE 1000 851/ 43/ 00/ 43 00/ 00 21 43
o vt 5 2 0 1 1 0 1 0 0
B3 2 R B 1000 400/ 00| 200/ 200/ 00/ 200 00 00
HEAEFEN (U IIL—THR— 195 89 47 33 12 6 4 3 1
L) 1000 456/ 241| 169/ 62| 3.1 2.1 15 05
s 7 me e pm 16 5 1 1 2 0 3 4 0
MER AR X iR 1000 313| 63| 63/ 125 00/ 188 250 00
e s - 371 132] 120 86 21 5 1 2 4
18
REFREXIE 1000 356/ 323| 232/ 57/ 13 03] 05 1.1
- bt 1 0 1 0 0 0 0 0 0
= ==
BEENMEREREXE 1000 00| 1000/ 00/ 00/ 00/ 00 00 00
N 415 143] 127/ 105 24 8 1 3 4
BEREFTAH—ER 1000 345/ 306/ 253 58 19/ 02/ 07/ 10
I = 53 15 17 13 4 3 0 1 0
REMSHREXE 1000 28.3| 321| 245 75/ 57/ 00/ 19/ 00
EMNWRARTRE (BALE 1 0 0 1 0 0 0 0 0
FEMALRARTHEER) 100.0 0.0 00| 1000 0.0 0.0 0.0 0.0 0.0
- o m 2 0 0 2 0 0 0 0 0
18
EANRARTX % 1000 00/ 00 1000/ 00/ 00 00 00 00
HEMHRZE (EEEEL 225 114 37 38 15 6 1 6 8
WRAFRTEER) 1000 507 16.4| 16.9 6.7 2.7 04 2.7 3.6
= —tm 86 42 17 15 5 1 1 4 1
HEBIT IR 1000[ 488/ 198 174 58 12| 12| 47 12
. = 89 44 18 15 5 2 1 3 1
iR 7 X ik 1000] 494/ 202/ 169 56/ 22/ 11| 34 11
. gty 138 53 30 32 10 4 0 5 4
25 J=Fr =%
AN RARB S 1R 1000 38.4| 217 232| 72| 29/ 00 36/ 29
i EES S IE A — (EE 7 4 1 0 1 0 0 1 0
XER) 1000 57.1| 143] 00/ 143 00/ 00/ 143 00
i EES T IEE A — (AR 10 8 1 1 0 0 0 0 0
BH!) 1000 800/ 100/ 100/ 00/ 00/ 00 00 00
_ - 8 2 0 1 1 0 2 2 0
Ao —FXik 1000 250/ 00| 125/ 125/ 00| 250 250 00
- . 166| 121 17 10 4 3 2 0 9
ERRY—EX 1000 729/ 102/ 60 24/ 18 12/ 00 54
- i 11 8 1 2 0 0 0 0 0
£ E
SEEE 1000 7271 91| 182 00/ 00/ 00 00 00
4 2 1 1 0 0 0 0 0
Tt 100.0[ 500/ 250/ 250/ 00/ 00/ 00 00 00
mE 1 0 0 0 0 0 0 0 1
1000]f 00/ 00 00/ 00 00 00/ 00 1000
73 R—

WMESIC/HET 27 0 X&EE (B 1 £XER)



WEEZ(CIBFH T A0 RES (B EHEER)
13 D) HEEEEICHBLT, BETEIHEAVDHEAIZHLTERELTWNAIEEHYETH,

n [iss [iTe3 i3
B B E]
L L &
T | <
RYEER
% %
& &
=¥ A
b2 k%)
Iz 7s)
f~
L
1004 985 544] 465
e 1000| 494/ 273 233
12 BENEGR—LAILI)-E 695 347| 112] 236
RELT EFENTE 1000 49.9| 16.1] 340
WAY— | e 288l 128  57] 103
EX RIf7ikeE 1000 444 198 358
N 73 18] a8 7
£
fraiReE 1000 247 658 96
- 434 204] 00| 131
BBXiE 1000| 470 228 302
. 3 1 2 0
, =z
RENE 1000]| 333 667 00
N _ 68| 19| 44 5
SH 20—
EHART (2a—hAT 1) 1000| 279 647 74
- . 185 54| 112 19
3 =
EENE 1000]| 292/ 605 103
B3 EI4E (B eE- 4£5E-TE5A 26 15 3 8
%) 1000| 577 115 308
g g btz 106] 69 8 29
RABITXIR 1000 651 75/ 274
. - 172 114 6| 52
[y r_"ll"l\?_:' Ei)
AITHE S IRALL 1000] 663 35 302
o B 208 173 53] 72
g g 1)
I RBE 1000 581 178 242
et 47 28 8 11
I EE X IR 1000] 596 170 234
et 5 2 3 0
B4R 1000] 400 600 00
HEAEFEN (U IIL—THR— 195 80 94 21
L) 1000]| 410 482 108
n 7 =t 16 3 10 3
MEE AR X iR 1000| 188/ 625 188
vt 1 371 136] 192] 43
18
REREXR 1000 367 518 116
. -t 1 1 0 1 0
s ==
E%uﬁf‘tﬁiJhi%gi*ﬁ 100.0 0.0/ 1000 0.0
smre e ot o 415l 147] 224] 44
BEREST A —EX 1000 354/ 540/ 106
I - 53 17] 32 4
RERSHEE 1000| 321| 604 75
AN A S 1E (TR i~ 1 o o
FEALIRARTHEER) 1000 1000| 00/ 0.0
- o m 2 0 2 0
= 18
EALRE AR X R 1000] 00 1000 00
FTERR IR (EREEDS 225 112 75 38
WRAFRTEER) 1000 498 333 16.9
i ge| 41| 32| 13
HEBITIIR 1000] 477 372 154
e 1 go| 43| 32/ 14
HoIg A X iR 1000 483 360 157
- e 138 61| 57| 20
2 1B AE =%
Bib‘b"“*ﬁ“fi*f 1000 442 413 145
RS R — (£7F 7 3 3 1
XER) 1000 429| 429| 143
i EES T IEL 2 — (AR 10 5 3 2
BE!) 1000]| 500 300/ 200
 tm 8 2 4 2
B —RXik 1000]| 250 500 250
. 166 82| 33| 51
NERET—ER 1000 494/ 199 307
. . 11 6 3 2
£ s
SEEE 100.0[ 545/ 273 182
4 3 1 0
Tt 1000]| 750 250/ 00
e 1 0 0 1
1000] 00 00/ 1000

T4 R—



WMESIC/HET 27 0 X&EE (B 1 £XER)

14 O BFREFECETI2RETHEAVOHIAICTTEIRIELLT, BENHIEBOLNTVSIEEHYFETH, BT —RELTORETH., FIENLRETHLREET

E)
] ] [=]
paN paN =
» k)
% %
& &
=S %
4% L
[z 5
C
f‘d:
LY
1094 900| 604] 490
& & 1000 451 303 246
EipA BENEGR—LAILD)-E 695 289 163] 243
REELT EFRNE 1000 416| 235 350
WAH— [ iz 288 107] 78] 103
Ex Rl 47 52 1000]| 372 271 358
PR 73 30 35 8
fraixeE 1000 41.1] 479 110
- 434 183] 118] 133
BEXix 1000 422/ 272/ 306
. 3 1 2 0
) =%
RENE 1000 333 667 00
. _ 68| 21| 44 3
53 a—
AR (2a—hAT 1) 1000| 309 647 44
— 185 56/ 110/ 19
3 =
EENE 1000 303 595 103
B EIE (Hae- &5E 1858 26 9 7 10
Eit)) 1000 346/ 269 385
e /e 106 55 19] 32
RABITXIR 1000] 519/ 179 302
. - 172 94 20 58
g g Ei7]
AITHE S IRALL 1000] 547/ 116 337
. - 208 134 82| 82
2 g 4ok 1)
AITH X RBE 1000 450/ 275/ 275
e - 47 22 13] 12
I EE X IR 1000 468 277 255
P 5 1 4 0
B 4R R 1000] 200 800 00
HEAEFEN (U IIL—THR— 195 85 89 21
1) 1000 436/ 456 108
1 eetm 16 2l 11 3
MER AR X iR 1000 125 688 188
ot tm 371l 179 148] 44
18
REREXIR 1000 482/ 399 119
. ot 1 0 1 0
oot =
E"Euﬁﬁfﬁﬁthi%gi*ﬁ 100.0 0.0/ 1000 0.0
e e 415 193] 174] 48
BEREST A —EX 1000 465 419 116
e - 53 20 20 4
REMESFNZE 1000l 5470 377 75
BEALE AR X iR (18 B 1 1 0 0
FEMALIRARTHEER) 1000 1000, 00/ 0.0
R m 2 0 2 0
=3 18
EALVR AR E 1000] 00 1000 00
HEMREE (EEEEL 225 92 94 39
WRAFRTEER) 1000 409 418 173
o trm ge|| 34| 38 14
HEBITIR 1000 395 442 163
e - go| 34 39 16
HoIg A X IR 1000 382 438 180
R ot 138 54 63 21
2 I8 AE
Bib‘b"“*ﬁ“fi*i 1000 391 457 152
HEES X R — (£TF 7 3 3 1
XEE) 1000 429| 429| 143
i ES T IEE A — (AR 10 3 6 1
BH) 1000 300/ 600/ 100
_ - 8 1 6 1
B —RXik 1000 125 750 125
. 166 74| 40 52
NERET—ER 1000 446/ 241 313
. . 11 7 3 1
£ s
SEEE 100.0[ 636| 273/ 9.1
4 2 2 0
Tt 1000 500/ 500/ 00
i 1 0 0 1
1000 00 00| 1000

75 R—



15 BEEEFICEVWT. BEEALDHAADFAESHIZDOULT

n 0 1 3 6 1 2 3 =3
A S S S 1 1 1 [\]
2 5 1 § § A &
A A 0 2 3 LA
A 0 0 +
A A
2 ik 1,994 499] 332] 369] 253 209] 116/ 160 56
1000 250/ 166 185/ 127 105/ 58 80 28
fi12 BENEGR—LAIILD)-E 695 336] 152 89 38 21 9 14 36
REELT EFRNE 100.0 48.3| 219/ 128/ 55/ 30 13| 20 52
LWHH— R EE 288l 110 75 44 19 8 4 9 19
EX A= 100.0[ 382| 260 153 66/ 28 14/ 3.1 6.6
P 73 19 13 12 8 7 4 8 2
fTohi%E 100.0[ 260/ 178 164/ 110 96| 55/ 110 27
- 434 148] 117 71 35 21 8 14 20
Baxiz 100.0| 34.1| 270/ 16.4| 81| 48 18 32 46
e B A 3 1 0 1 1 0 0 0 0
RENE 1000] 333/ 00 333 333 00/ 00 00 00
- e o= 68 13 12 12 11 8 2 10 0
AR (2a—hAT 1) 1000 19.1| 176/ 176/ 162/ 118/ 29| 147 00
s 185 44 25 31 31 29 10 13 2
EENE 1000 238/ 135 168 168 157 54/ 70 1.1
B EI%E (Bae- &8 - 1808 26 2 4 8 8 0 2 2 0
) 1000[ 77/ 154/ 308/ 308 00/ 77/ 77 00
s e = e 106 9 7 29 28 27 3 2 1
MABATXIE 1000[ 85| 66 274/ 264 255 28/ 19 09
e = 172 12 39 68 32 13 4 0 4
g 4ok il
RAREXEAR 1000 70| 227/ 395/ 186| 76/ 23 00 23
e - 298 40 66 95 55 28 4 4 6
A gl g 1)
MM EBE 100.0| 13.4| 221| 319/ 185 94| 13| 13| 20
e - 47 1 4 11 12 15 1 2 1
MAEEXE 1000 21| 85 234/ 255 319 21| 43 21
oy rm 5 0 0 1 3 0 0 1 0
B3 2 R B 1000 00| 00| 200/ 600/ 00/ 00/ 200 00
HRESEFER (U IIL—THR— 195 45 57 44 28 12 3 5 1
N 100.0[ 23.1| 292/ 226/ 144/ 62| 15 26 05
R 16 2 1 3 2 2 1 5 0
MR AR X iR 100.0| 125/ 63| 188/ 125/ 125/ 63| 313 00
g o b 12 371 13 8 33 54 89 77 93 4
18
REFREXIE 1000 35| 22 89| 146/ 240/ 208 251 11
- -tz 1 0 0 0 0 0 1 0 0
o/ s =S
BESMUEREREX R 1000 00/ 00 00/ 00 00/ 1000, 00 00
N 415 15 10 39 62| 101 79| 105 4
BREFTAH—ER 1000[ 36| 24 94| 149 243| 190/ 253 10
I = 53 0 0 2 4 6 12 29 0
REMFSHRXIE 1000 00/ 00 38 75 11.3| 226/ 547 00
EALVE AR E (B4 1 0 1 0 0 0 0 0 0
FEA LR AFTHEER) 1000 00| 1000/ 00/ 00/ 00/ 00 00 00
- oy m 2 0 0 1 1 0 0 0 0
18
AN R AR iR 1000 00/ 00 500 500 00/ 00/ 00 00
SEMERZIE (EEEEL 225 24 28 52 37 23 10 45 6
WRAFRTEER) 1000 107/ 12.4| 231| 16.4| 102 44| 200 2.7
= tm 86 6 11 22 13 8 3 22 1
HEBIT IR 1000 70| 128 256/ 151 93| 35| 256/ 1.2
. = 89 6 12 23 13 10 3 21 1
MR 7 X iR 1000 67/ 135 258 146/ 112| 34| 236 1.1
. by 138 7 10 35 21 15 7 40 3
2 =PI
AT AR R 1000 5.1 72| 254/ 152/ 109| 51| 290 22
i ES T EE A — (EE 7 0 1 1 2 0 0 3 0
XER) 100.0f 00| 143 143| 286/ 00/ 00| 429/ 00
i ES T EE 7 — (AR 10 1 4 2 3 0 0 0 0
BEY) 100.0 100/ 400 200/ 300 00/ 00/ 00 00
_ - 8 1 1 2 0 0 2 2 0
B —FXik 1000[ 125/ 125 250/ 00/ 00| 250 250 00
. R 166 55 50 30 10 5 2 5 9
ERRY—EX 100.0[ 33.1| 30.1| 18.1 60/ 30/ 12 30 54
- - 11 5 2 3 0 0 0 1 0
s =3
R 100.0| 455/ 182/ 273/ 00/ 00/ 00 91/ 00
4 1 1 1 1 0 0 0 0
TOf 100.0[ 250/ 250 250/ 250 00/ 00/ 00 00
mE 1 0 0 0 0 0 0 0 1
1000 00/ 00 00/ 00 00 00/ 00 1000
76 R—

WMESIC/HET 27 0 X&EE (B 1 £XER)



16 @D EEEEHITEVWT XEBNALDHIAICRLT, BELTWNAZEEHYETH,
n [iss [iTe3 i3
B B E]
L L &
T | T
LY LY
% %
& &
=¥ A
b2 k%)
Iz 7s)
f~
Ly
1004 588 1169 237
£ " 1000]| 295 586/ 11.9
12 BENEGR—LAILI)-E 695 266/ 254] 175
REELT EFRENE 1000 38.3| 365/ 252
RS el F— 288 86| 131] 71
Ex RIf7ikeE 1000 299 455 247
P 73 28] a 4
3
fraixeE 1000] 384/ 562 55
- 434 143] 200] 82
BExiE 1000| 329 482 189
. 3 1 2 0
, =
RENE 1000] 333 667 00
N _ 6ol 21| 44 3
GR:! a—
BEAFCa—kRTA) 1000l 309 647 44
s 185 53] 119 13
3 =z
EEE 1000 286 64.3 7.0
BILEIHE (BEeE- R -1E5A 26 1 24 1
%) 1000 38/ 923 38
g0 g by 106] 15| 87 4
RIATBITXIR 1000]| 142 821 38
. - 172 43] 121 8
[y r_‘|n”l\ﬁ 7
ARG EAR 1000| 250/ 703] 47
e - 208 84| 199] 15
4 gl 4 1]
IR RBE 1000] 282 668 50
o 1 47 7| 38 2
MAEEXIE 1000| 149 809 43
P 5 1 4 0
B E R 1000] 200 800/ 00
HEEFER (T IIL—THR— 195 66, 119 10
L) 1000] 338 610 5.1
hn 1w 16 3l 12 1
WEEX AR 1% 1000| 188 750 63
vt 1 371 54| 313 4
I=]
REREXR 1000] 146 844 1.1
. -t 1 0 1 0
/s ==
E%nﬁFﬂﬂiJhE%gibi 100.0 0.0/ 1000 0.0
s et s 415 63| 346 6
BEREFTAH—ER 1000| 152/ 834 14
. - 53 3| 50 0
REFSEH F“Eji*f 1000 57 943/ 00
FEAWE AR X &R (1B E 1 1 0 0
FEMULRARTHEER) 1000 1000, 00/ 00
. i 2 0 2 0
= 18
EANR AR % 1000] 00/ 1000 00
STEMR T E (EEEELN 225 72| 140 13
WRAFRTEER) 100.0[ 320/ 622/ 58
i gel| 29| 52 5
HEBATXIE 1000] 337 605 58
e g 29| 55 5
iR X ik 1000 326/ 618 56
. o 1m 138 47| 85 6
2= J=P=E
BEM”"*E“f%E 1000 341 616 43
RS R — (ETF 7 0 7 0
XER) 1000 00| 1000/ 0.0
i EESTIEL 4 — (AR 10 3 6 1
BE) 1000 300 600/ 100
Brh—B X &g 10
1000| 125 875 00
. R 166] 55 81| 30
=73 —_
MERRY—EX 1000] 331/ 488 18.1
. - 1 4 7 0
£ =
A& 100.0[ 36.4| 636 00
4 2 2 0
Tt 1000 500 500 00
P 1 0 0 1
1000] 00 00/ 1000

77 =

WMESIC/HET 27 0 X&EE (B 1 £XER)



WMESIC/HET 27 0 X&EE (B 1 £XER)

17 @ BFEFBICBHILPRERNVOHLIAITHTIXIEELT. RENHDHEBONTNDSILEHYFET M. (BT —RELTORETH, FIEMNLGRETLHIETT.)

n ES Y i
iz} ] [=]
paN paN =
%) k%)

% %
& &
S %
4% L
[z 5
=%
C
VA
Ly
1004 871] 857| 266
e 1000] 437/ 430/ 133
EipA BENEGR—LAILD)-E 695 339] 169| 187
REELT EFRNE 1000| 48.8| 243 269
WAY— | e 288 137 73] 78
EX RI47 %2 1000] 476 253 27.1
P 73 39| 27 7
fTohi%E 1000| 534/ 370 96
- 434 217] 129] e8
Baxiz 1000]| 500 29.7] 203
. 3 1 2 0
; AN
RENE 1000] 333 667 00
N _ 6a 31| 35 2
SH 20—
AR (2a—hAT 1) 1000 456/ 515 29
s 185 74| 95 16
3 =z
EEE 1000]| 400/ 514/ 86
B EI%E (Hae- &5 1858 26 6 19 1
) 1000] 231 731| 38
o egh g 106] 39| 63 4
RABITXIER 1000] 368 594 38
e - 172 85 77| 10
S 4 7l
AITHE S IRALL 1000] 49.4| 448/ 58
. - 208 122] 156] 20
g g 1
AITH X RBE 1000] 409 523 67
e 1 a7 21 25 1
I X IR 1000 447 532 21
P 5 3 2 0
B3 2 R B 1000 600/ 400/ 00
HEAEFEN (U IIL—THR— 195 99 85 11
L) 1000] 508/ 436/ 56
o o 16 4 11 1
MR ARTX % 1000 250 688 63
o 37| 137] 222 12
18
REFREXIE 1000 369/ 598 32
. -t 1 0 1 0
o/ s 1) |2 =
E':Euﬁﬁ:lﬁi)hi%gi#ﬁ 100.0 00! 1000 00
s et 415 149] 253] 13
BREFTAH—ER 1000| 359/ 610 3.1
S - 53| 15/ 37 1
it 0 S I
PEALE AR X iR (1R 1 0 1 0
FEALRARTHEER) 1000 0.0 1000/ 0.0
R o m 2 0 2 0
18
EALRE AR R 1000] 00 1000 00
HEMHRZE (EEEEL 225 929/ 109 17
WRAFRTEER) 1000 440 484 76
ot el 31| 48 7
HEBITIE 1000| 360 558 8.1
at g 32| 49 8
HoIg B X IR 1000] 360 551 9.0
. e 138 61| 68 9
2 =P e
Biﬁ‘b"“*ﬁ“fi*i 1000 442 493 65
RS RE A — (£TE 7 0 7 0
XER) 1000 00| 1000/ 0.0
i ES T EE 2 — (AR 10 4 6 0
BE) 1000 400 600 00
ot tm 8 3 5 0
Ao —FXik 1000 375 625 00
- . 166| 83 49| 34
EERY—EX 1000[ 500/ 295/ 205
. . 11 5 6 0
£ g
SEEE 100.0| 455| 545/ 00
4 1 3 0
Tt 1000 250 750/ 00
P 1 0 0 1
1000] 00 00/ 1000

78 R—



18 HEXHICEWT, ERMNTT7ORELGHDFAEBERICOLT

n 0 1 3 6 1 2 3 =3
A S S S 1 1 1 [\]
2 5 1 § § A &

A A 0 2 3 LA

A 0 0 +

A A

2 % 1,994 1316] 307] 122 80 47 10 24 88
1000 660/ 154/ 6.1 40, 24| 05| 12| 44
fE12 BENEGR—LAILI)-E 695| 408] 132 48 35 18 3 6 45
REELT EFRENE 1000 58.7| 190 69/ 50 26/ 04/ 09/ 65
WEY— = i 288|[ 159 58 21 16 8 2 1 23
EX RITikeE 100.0[ 552/ 20.1 73] 56/ 28 07/ 03 80

e i 73 44 11 6 4 2 0 1 5

4 =]

fTohi%E 1000 60.3| 15.1 82| 55| 27/ 00 14 68

= 434 246 86 32 20 15 3 5 27

BExiE 1000 56.7| 198/ 74| 46| 35 07/ 12/ 62

- 3 0 0 0 1 0 0 2 0

b =

RENE 1000 00| 00/ 00/ 333 00 00 667 00
_ N _ 68 26 11 9 7 2 3 8 2
GR:! a—

BRI (3—hRAT 1) 1000 382 16.2| 132| 103| 29| 44 118 29
e A= 185 87 33 21 17 10 3 9 5
3 g

EEE 100.0| 470/ 178/ 114 92| 54/ 16/ 49 27

B EIfE (BEeE- R -8R 26 19 1 1 2 1 1 1 0

#l) 100.0[ 73.1 38/ 38/ 77/ 38 38 38 00

ez i g 106 78 17 2 3 2 0 0 4

MABITXIE 1000]| 736/ 160 19/ 28 19/ 00 00 38

e = 172 129 29 3 3 0 1 2 5
¥ r_"n”:\; y i)

RAREXEAR 1000 750 169 17/ 17/ 00 06 12 29

e - 298| 191 58 15 12 12 2 2 6
T iyl

IR RBE 1000 64.1| 195/ 50/ 40/ 40/ 07/ 07/ 20

e e = 47 29 7 3 3 2 0 0 3

MAEE X IR 1000 617 149 64| 64/ 43 00 00 64
4 5 3 1 0 1 0 0 0 0

B E R 1000 600/ 200/ 00/ 200/ 00 00 00 00

HEEFER (T IIL—THR— 195 116 40 15 11 6 1 4 2

L) 1000 595/ 205/ 77| 56/ 3.1 05/ 21 1.0
[ 16 4 1 0 2 0 2 6 1

MR AR iE 1000 250/ 6.3 00| 125/ 00/ 125 375 6.3
e s - 371 303 23 12 7 10 1 1 14

1=}

REREXIE 100.0| 817 62| 32| 19/ 27/ 03 03 38

- - i 1 1 0 0 0 0 0 0 0
=z uRl=E=

EESHUREREXE 100.0[ 1000 00/ 00/ 00/ 00/ 00 00 00
N 415 342 23 13 9 9 1 2 16

BREFTAH—ER 100.0| 824/ 55 3.1 22| 22/ 02 05 39
N = 53 41 6 2 0 2 1 1 0

REMSFSHREXIE 1000| 77.4| 113 38 00/ 38 19/ 19/ 00

FEAE ARTXE (fRfL ! 1 0 0 0 1 0 0 0 0

FEAULRARTHEER) 100.0 0.0 0.0 0.0/ 100.0 0.0 0.0 00 0.0
. ey m 2 0 0 0 0 0 0 2 0
= 18

AR AR % 1000 00| 00/ 00/ 00/ 00/ 00/ 1000 00

STEMR T E (BEEEELN 225/ 108 44 26 13 7 5 7 15

WRAFRTEER) 1000 480 196| 116 5.8 3.1 22 3.1 6.7

= —ttm 86 37 17 15 5 2 2 3 5

HEBATXIE 1000 430/ 198/ 174| 58/ 23] 23/ 35 58

- = 89 39 18 15 5 2 2 3 5

Wi 7 X iR 1000 438/ 202 169 56/ 22| 22/ 34 56
< . 138 62 28 18 7 6 4 6 7
=1 IE kG 54 37 12

AN RARS X 1000 449/ 203/ 130/ 5.1 43| 29| 43| 51

R R A — (£F 7 4 1 1 1 0 0 0 0

XER) 1000[ 57.1| 143 143 143/ 00/ 00/ 00 00

i EEZEE 2 — (AR 10 6 1 0 2 1 0 0 0

BH!) 1000 600/ 100/ 00/ 200/ 100/ 00/ 00 00

_ - 8 3 0 0 0 2 1 1 1

Heh—HXiE 1000 375/ 00/ 00| 00| 250/ 125 125 125
- . 166 77 35 19 19 4 1 1 10
=73 —_

ERRY—EX 100.0| 46.4| 211| 114 114 24| 06/ 06/ 60

- - 11 4 2 0 3 1 0 1 0

g g

R 1000 36.4| 182/ 00/ 273 9.1 00| 9.1 0.0

4 2 0 1 1 0 0 0 0

Tt 1000 500/ 00| 250 250/ 00/ 00 00 00

wE 1 0 0 0 0 0 0 0 1

1000[ 00/ 00/ 00/ 00/ 00 00 00 1000
79 m—3

WMESIC/HET 27 0 X&EE (B 1 £XER)



WMESIC/HET 27 0 X&EE (B 1 £XER)

19 . %E%%@*‘Jﬁﬁ%ﬁ%%:‘:b’cuéE#ﬁﬂ"]’TTIZOL\E’C

n A = = = % M 3 & 3 il A FC g & N i i
T 5 5| =2 Ell A = ik T & T 173 B |~ I b= [0)) @]
152 )] e i a0 a0 x g pE2 pil] i = h| X = ith %
% 5 I E B B = i gt iE i b1 h | F i
e =1 7 & N h B F
1)) » Ly & 5 T Dl >
& & T ) R I X | A
P pi:) A 153 » T it |
1)) b o L ~| A
& 'y [0)) A
L ) 5 Al o
% i1 |
El Al FE
U3
5|
756:
2 1,994 74 98 211 121] 179 61] 150 21 49| 133] 108] 124] 214] 147] 222] 550 41 1185
1000 37/ 49 1.1 6.1 90| 3.1 75 1.1 25| 67| 54/ 62/ 107 74| 111] 276/ 21| 594
2 BENEGR—LAILD)-E 695 39 44 10 67| 100 28 79 10 17 67 60 67| 112 43|  107| 243 9] 351
RELT EFRNE 100.0] 5.6 6.3 14| 96| 144 40| 114 14/ 24| 96/ 86/ 96| 16.1 62| 154 350 13| 505
WEH— RiEE 288 21 27 3 32 40 17 33 4 8 25 29 27 49 18 48| 106 4 142
EX A 1000 73| 94/ 10/ 111 139/ 59| 115 14/ 28 87 10.1 94| 170/ 6.3 167 368 14| 493
AEEE 73 9 5 0 5 10 6 7 0 1 4 2 8 11 4 10 28 1 39
1000 123| 68/ 00/ 68/ 137/ 82 96/ 00 14 55 27/ 110/ 151 55/ 137 384 14| 534
BE T 434 31 36 8 41 67 24 51 5 12 41 38 42 66 30 66| 163 3] 213
1000 7.1 83/ 18/ 94| 154/ 55 118/ 12| 28 94/ 88 97| 152/ 69| 152/ 376 07| 491
A 3 2 3 1 3 3 3 3 0 2 1 0 2 3 3 3 3 1 0
100.0| 66.7| 100.0| 33.3| 100.0| 100.0| 100.0| 1000 00| 66.7] 33.3] 00| 66.7| 100.0| 100.0| 100.0| 100.0| 33.3| 00
_ s o= 68 4 4 2 3 8 4 9 1 5 6 3 7 20 10 19 48 1 14
IR (3—hATA) 1000 59| 59/ 29 44| 118/ 59| 132 15 74| 88| 44| 103 294 147 279/ 706/ 15/ 206
HEE 185 13 19 5 16 29 16 27 4 5 19 7 28 41 34 50 87 5 73
1000 70| 103| 27| 86| 157/ 86| 146/ 22| 27 103| 38| 151| 222 184| 270/ 470 27| 395
B EI%E (Bae- &8 - 1808 26 1 1 0 0 1 1 1 0 0 1 0 1 3 3 2 7 1 18
) 1000 38/ 38/ 00/ 00/ 38 38 38 00 00 38 00 38 115 115 77| 269/ 38 692
vl 1o 106 1 1 1 0 3 2 1 0 3 6 3 1 3 4 6 18 4 73
MABATXIE 1000 09/ 09/ 09/ 00/ 28 19 09 00 28 57 28 09/ 28 38 57/ 170/ 38 689
N 172 1 1 0 0 1 0 1 0 3 9 14 1 8 4 5 26 4 111
RAREXEAR 1000 06/ 06/ 00/ 00/ 06/ 00 06/ 00 17 52 81 06/ 47| 23] 29/ 151 23| 645
e o, g gk b o T 298 2 1 2 8 5 6 4 0 7 28 15 11 27 15 23 80 12| 164
MM EBE 1000( 07/ 03] 07/ 270 17/ 20 13 00 23 94 50 37 91 50/ 77| 268 40| 550
e e = 47 1 2 0 0 2 2 2 0 2 4 2 2 3 5 4 11 2 29
MAEEXIE 1000 2.1 43| 00| 00| 43 43/ 43 00 43 85 43| 43| 64| 106| 85 234/ 43| 61.7
B v A S 5 1 1 0 0 1 1 1 0 0 0 0 1 1 1 3 3 1 1
100.0[ 200/ 200/ 00| 00| 200 200 200 00 00 00 00 200 200/ 200/ 600 600 200 200
HEAEFEN (U IIL—THR— 195 6 6 1 6 8 8 7 1 4 6 5 12 23 16 31 99 3 81
L) 1000 3.1 3.1 05 3.1 4.1 4.1 36/ 05 21 3.1 26| 62| 118/ 82 159/ 508 15 415
R 16 0 0 0 0 2 0 2 0 2 3 0 1 9 3 5 11 0 4
MR AR X iR 1000[ 00/ 00/ 00 00/ 125 00/ 125 00/ 125 188/ 00| 6.3 563 188 313 688 00/ 250
R SRR 371 12 21 4 18 24 15 29 5 4 4 1 11 20 38 27 42 5/ 301
- 1000 32| 57 1.1 49/ 65 40/ 78/ 13| 11 1.1 03| 30/ 54/ 102 73] 113 13 811
s o 1 e 2 s = 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
EESMUREREX R 1000( 00/ 00/ 00/ 00/ 00 00 00 00 00 00 00 00 00 00 00 00 00 1000
e g e . 415 15 24 4 19 28 17 33 4 4 6 2 14 23 41 28 48 4| 340
BREFTAH—ER 1000 36| 58/ 10/ 46| 67 41 80/ 10/ 10 14 05 34/ 55 99| 67/ 116/ 10/ 819
o o e = = 53 3 5 3 3 4 4 5 1 2 1 0 3 5 4 6 7 1 39
REMSFSHRXE 1000 57| 94/ 57/ 57/ 15 715/ 94, 19/ 38 19/ 00| 57 94/ 75 113] 132 19| 736
EA LR AR E (B4 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0
FEA LR AFTHEER) 1000 00/ 00/ 00 00/ 00/ 00/ 00 00/ 00 00/ 00 00 00/ 00 00/ 1000 00/ 00
R g im 2 1 2 1 2 2 2 2 0 1 1 0 2 2 2 2 2 0 0
AR AR 1% 100.0[ 50.0| 100.0| 50.0| 100.0| 100.0| 100.0| 1000 00| 500 500 00| 100.0| 100.0| 100.0| 100.0| 100.0/ 00| 0.0
STEMEARZE (EEEEL 225 22 31 6 30 47 15 33 6 17 28 27 30 38 25 31 95 4 95
WRAFRTEER) 1000 98| 138 27 133| 209/ 67| 147 27| 76/ 124| 120/ 133 169 111, 138 422/ 18| 422
iR 1T 4B 86 12 17 3 7 22 9 13 2 7 12 12 12 16 11 12 40 2 30
1000 140/ 198/ 35/ 81| 256/ 105 15.1 23| 81| 140/ 140/ 140 186| 128 140 465 23| 349
. = 89 12 17 3 7 23 9 13 2 7 12 12 12 16 11 13 41 2 31
MR 7 X iR 100.0[ 135/ 19.1 34| 79| 258/ 101| 146/ 22| 79 135 135/ 135 180| 124 146 46.1 22| 348
R st 138 17 23 6 17 36 14 27 5 9 16 18 23 28 20 19 60 4 51
AT RARB S 1% 1000 123| 16.7] 43| 123| 261 101| 196/ 36/ 65 116/ 130 167 203| 145 138 435 29/ 370
i ES T EE A — (KE 7 2 2 0 1 2 1 2 0 1 1 1 1 1 1 3 5 0 2
XER) 1000 286| 286/ 00 143| 286| 143| 286/ 00| 143 143| 143| 143 143| 143 429/ 714 00| 286
iR R Et 42— (AR 10 0 0 0 0 0 0 0 0 0 1 0 0 1 1 1 5 0 5
BH!) 1000[ 00/ 00/ 00/ 00/ 00/ 00 00 00 00 100 00 00/ 100/ 100/ 100/ 500 00/ 500
Hrh— B i 8 0 0 0 0 0 1 0 0 0 0 1 1 2 0 2 7 0 1
1000[ 00/ 00/ 00/ 00 00/ 125 00/ 00/ 00 00/ 125/ 125 250/ 00 250 875 00| 125
- . 166 15 16 3 30 39 12 30 3 7 25 25 19 38 16 39 76 1 65
ERRY—EX 1000 90| 96| 18/ 181 235 72| 181 18 42 151 151, 114 229| 96| 235 458/ 06| 392
. 11 3 3 1 3 4 2 4 0 2 4 2 4 6 2 4 6 1 3
1000 273 273| 91| 273| 364, 182 364 00| 182 36.4| 182| 364 545 182 364 545 91| 273
20 4 1 2 0 1 2 1 2 0 0 0 1 1 2 1 2 3 0 1
100.0[ 250/ 500/ 00| 250/ 500 250 500 00 00 00 250 250 500/ 250/ 500/ 750 00| 250
[ 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
ETE 1000] 00/ 00/ 00/ 00/ 00 00 00 00 00 00 00 00 00 00 00 00 00 1000

80 ~—



WESICIBHT 527 0 R&E5F (B BEER)
20 BEEXHICEVTHLAIBRRLEERNZ7IZOWT

n A = 2 = % M 3 & 3 i A FC B O\ | N il =
T 5 5| =2 Ell A = ik T & T BR E |5l - [0)) @]
152 )] e i a0 a0 x g pE2 pil] i T Hh| R = ith %
% 5 I E B B = i gt iE i B\ FA 7T i
e =1 7 & N h —~B| *
1)) » Ly & 5 T Dl >
& & T ) R I X | A
P pi:) A 153 » T it |
1)) b 1= L ~| A
& 'y [0)) A
L ) 5 Al o
% i1 |
El Al FE
2 1,994 52 65 38 100] 198 82| 155 34 53] 121 32 82| 224] 147] 387] 641 36/ 1163
1000 26| 33/ 19/ 50 99 41 78/ 17 27 6.1 16/ 41| 112 74 194 321 18 583
f2 BENEGR—LAILD)-E 695 19 19 8 47 113 27 82 9 10 45 19 31| 108 35/ 187| 269 6/ 327
RIELT EFRNE 1000 27| 27 12| 6.8 163 39/ 118 1.3 14/ 65 27| 45 155/ 500 269 387 09| 47.1
WaHy— R 288 8 9 2 17 50 9 35 4 4 12 5 10 39 14 82| 111 2/ 135
EX AfTIRER 1000 28/ 3.1 07| 59| 174/ 31| 122/ 14 14 42| 17| 35 135/ 49| 285 385 07/ 469
SEEE 73 3 3 0 3 13 5 7 1 0 0 0 4 10 5 16 29 0 34
i 1000 4.1 4.1 00| 41| 178/ 68 96/ 14/ 00 00 00 55 137/ 68/ 219/ 397 00| 466
_ 434 13 15 5 25 80 20 56 3 7 25 7 17 57 26/ 109| 169 2| 201
1000f 30/ 35/ 12/ 58 184/ 46| 129/ 07 16/ 58 16/ 39 131 6.0 251/ 389/ 05/ 463
A 3 3 3 3 3 3 3 3 1 3 3 1 3 3 3 3 3 1 0

100.0 100.0/ 100.0| 100.0| 100.0| 100.0| 100.0/ 100.0/ 33.3] 100.0| 100.0| 33.3] 100.0/ 100.0/ 100.0/ 100.0| 100.0] 33.3 0.0

68 5 6 4 4 9 7 10 2 6 7 0 8 24 15 30 52 4 12

SEAART (S a—kRT
RRAR (3—hAT ) 1000 74/ 88/ 59/ 59| 132| 103] 147 29 88 103 00| 11.8] 353 221 441 765 59 176

. 185 10 19 9 17 41 23 35 4 11 23 2 23 41 45 64 103 3 64
mIlR 1000 54| 103| 49| 92| 222/ 124| 189 22| 59| 124 11| 124 222| 243| 346/ 557/ 16 346
B EI%E (Bae- &5 1808 26 1 1 0 0 1 1 1 0 0 1 0 1 2 2 4 7 0 19
) 1000( 38/ 38 00/ 00/ 38 38 38 00 00 38 00 38 77| 77| 154/ 269/ 00| 73.1
e Tl /=t b 106 1 1 0 0 3 4 3 0 3 6 1 1 4 2 16 29 1 73
MABATXIE 1000 09| 09| 00| 00| 28 38 28 00 28 57 09 09 38 19| 151 274 09 689
s = 172 0 2 1 1 5 4 4 1 5 10 2 3 9 4 27 42 5 112
A 4k il
RAREIIEAL 1000 00| 12| o6/ 06| 29 23 23 06/ 29 58 12/ 17| 52| 23| 157 244/ 29| 65.1
ez o = 298 1 4 2 7 10 10 6 3 7 24 2 6 30 13 52| 104 8 162
4t i
MR EBE 1000 03] 13 07/ 23] 34 34 20 10 23 81 07| 20| 101 44| 174| 349| 27| 544
. - 47 1 2 0 0 2 2 2 0 1 3 1 2 3 4 9 18 1 27
IR A X IR 1000 21| 43 00/ 00/ 43 43 43 00 21 64 21| 43| 64| 85 191 383 21 574
- 5 1 1 0 0 1 1 1 0 0 0 0 1 1 1 3 3 1 1
! 100.0[ 200/ 200/ 00/ 00| 200/ 200 200 00 00 00 00 200 200/ 200/ 600 600 200 200
HEEFE (U IIL—THR— 195 6 7 3 7 14 12 10 1 3 10 2 9 29 18 58/ 108 6 69
L) 1000 3.1 36/ 15/ 36/ 72/ 62 51 05/ 15/ 5.1 10| 46| 149/ 92 297 554 31 354
n 1 mr i 16 0 0 0 0 2 0 2 0 2 3 0 1 10 5 6 12 0 4
MR AR X iR 1000 00| 00/ 00/ 00| 125 00 125 00 125 188 00| 63| 625/ 313/ 375/ 750 00| 250
RS R 371 19 26 18 23 37 24 32 14 15 19 4 22 31 45 40 66 7| 287
. 1000 5.1 70/ 49/ 62| 100/ 65 86| 38 40 5.1 1.1 59| 84| 121| 108 178/ 19| 774
- . N 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
=i ==
EESMUREREX & 1000( 00/ 00/ 00/ 00/ 00 00 00 00 00 00 00 00 00 00 00 00 00 1000
N 415 21 29 19 23 41 26 35 13 16 21 5 25 36 46 42 80 7] 319
BREFTAH—ER 1000 5.1 70/ 46| 55/ 99/ 63/ 84| 31 39/ 5.1 12| 60/ 87 111 101, 193 1.7 769
e e s = 53 2 3 3 3 3 4 4 2 2 2 1 3 4 5 5 9 2 41
REMSFSHRXIE 1000 38/ 57/ 57| 57| 57/ 75 715 38 38 38 19 57 715/ 94| 94| 170 38 774
EA LR AT E (B! 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0
FEA LR ARTHEER 1000 00/ 00/ 00/ 00/ 00/ 00 00 00 00 00 00 00 00 00 00/ 1000/ 00 00
s e rm 2 2 2 2 2 2 2 2 0 2 2 0 2 2 2 2 2 0 0
Y=
AN RARTX R 100.0 100.0| 100.0| 100.0| 100.0| 100.0| 100.0| 100.0/ 00| 100.0| 100.0, 00| 100.0| 100.0| 100.0| 100.0| 1000/ 00| 00
SHEEH I (BEEEEL 225 9 10 6 18 27 15 23 8 9 17 7 13 26 19 36 75 6 131
WRAFRTEER) 100.0 40 44 2.7 80/ 120 6.7/ 102 3.6 40 7.6 3.1 58 11.6 84| 160 333 27 582
= tm 86 7 7 4 8 11 8 8 5 5 8 3 5 9 9 13 27 3 51
HEB AT X% 1000 8.1 8.1 47| 93| 128/ 93] 93 58 58 93 35 58 105/ 105/ 151| 314/ 35 593
. = 89 7 7 4 8 11 8 8 5 5 8 3 5 9 9 13 27 3 54
Wi R 7 X iR 1000 79| 79| 45| 90| 124 90/ 90 56/ 56/ 90 34/ 56/ 101 101| 146/ 303 34| 607
- b 138 9 11 7 12 19 12 18 8 6 10 5 11 20 15 23 48 5 76
B £
AR AR R 1000 65/ 80 5.1 87/ 138/ 87/ 130 58 43 72| 36| 80/ 145 109 167 348 36| 55.1
i ES X EE A — (KE 7 1 1 0 0 1 1 1 0 0 0 0 1 1 1 2 3 0 4
XEZ) 100.0f 14.3| 143| 00/ 00| 143| 143/ 143 00 00 00/ 00| 143| 143| 143 286/ 429/ 00 571
iR R E o 2— (AR 10 0 0 0 0 0 0 0 0 0 0 0 0 1 1 1 3 0 7
BH!) 1000 00/ 00/ 00/ 00/ 00/ 00 00 00 00 00 00 00 100/ 100/ 100/ 300 00/ 700
i — B iE 8 0 0 0 0 1 1 0 0 0 0 1 1 2 0 2 6 0 2
" 1000 00/ 00/ 00/ 00| 125 125 00/ 00 00 00 125 125/ 250/ 00| 250/ 750 00| 250
i . 166 4 4 2 10 36 9 28 2 4 10 4 5 33 11 58 68 0 72
= —
ERRY—EX 1000 24| 24| 12| 60| 217] 54/ 169 12| 24 60 24 30 199| 66| 349/ 410 00| 434
SR B 11 3 3 2 5 8 4 6 2 3 6 2 4 7 3 5 7 1 1
. A= 100.0| 27.3| 27.3| 182| 455| 727| 36.4| 545 182 273 545 182 36.4| 636 27.3| 455 636/ 9.1 9.1
20 4 0 1 1 1 1 1 1 0 1 0 0 1 1 2 2 3 0 1
1000 00| 250/ 250/ 250/ 250/ 250 250 00 250 00 00 250 250/ 500/ 500/ 750 00| 250
[ 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
ETE 1000] 00/ 00/ 00/ 00/ 00 00 00 00 00 00 00 00 00 00 00 00 00 1000

8l R—¥



21 @ BFFHCHVT ERNTT7ORELGHICHLTRELTNDIEEHYFET D,

N [iss [iTe3 i3
B B E]
L L &
T | T
R R
% %
& &
=¥ A
b2 k%)
Iz 7s)
f~
Ly
1004 o12] 464 618
e 1000] 457 233 310
2 BENEGR—LAILD)-E 695 286/ 196] 213
REELT |EFHENE 100.0[ 412| 282 306
WBH— | m o 288 99| 95/ 94
EX AT i%:E 1000 344 330 326
R 73 33 23] 17
% =E
fTaikeE 1000 452/ 315 233
- 434 176] 133] 125
BEXiE 1000 406/ 306 288
. 3 0 3 0
p =E
RENE 1000] 00/ 1000/ 00
I sl 36| 27 5
AR (Z3a—kAT 1) 1000 529 397 74
s 185 73] 76| 36
S g
EEE 1000] 395/ 41.1| 195
B I EI4E (HrE-4£5E-TE5A 26 10 5 11
) 1000] 385/ 192 423
2 7 b 1z 106] 63 23] 20
RABITIR 1000 594/ 217 189
. - 172 84| 32| 56
2 g 4ok J
RITHE S IRAL 1000 488 186 326
. - 208 142] 82| 74
b g 4= 7
I EB 1000] 47.7] 275/ 248
e - 1z a1l 270 12 8
MITEEX IR 1000 574/ 255 170
e 5 3 2 0
B E R 1000 600 400/ 00
HEAEFEB (T IL—THR— 195 103 56 36
L) 1000]| 528/ 287/ 185
n 1 ot 16 6 7 3
MR AR 1% 1000| 375 438 188
= ot 371 151] 57| 163
18
REREXS 1000 407 154/ 439
. -t 1 1 0 0 1
/== 7l 8=
E%uﬁﬁ:&:)bi%éﬁbﬁ 1000 0.0 0.0 1000
e iy s 415 174 61| 180
BREFTAH—ER 1000]| 419 147 434
s - sa 211 13] 19
REFSH F”E]i*’f 1000 396 245 358
FEALE AR X iR (181 R 1 1 0 0
FEANE AFTHEER) 100.0[ 1000/ 00| 00
e e 2 0 2 0
Y=
AR AR X iR 1000 00| 1000/ 00
SHERH I (BEEEEL 225 106 68 51
WRAFTHEER) 1000| 47.1| 302| 227
b el 40| 28] 18
BT 1000| 465/ 326/ 209
e tm go 41| 29| 19
HOIE R 1R 1000] 46.1| 326/ 21.3
. ot 138 60 47 3t
= \B e
AN RAR X iR 1000| 435/ 341 225
IR RN X R A — (ETE 7 1 4 2
XEZ) 1000 14.3| 57.1| 286
i EE R E 2 — (AR 10 5 2 3
BA) 1000] 500 200/ 300
ot tm 8 3 3 2
B —Rriz 1000| 375 375 250
. . 166| 62| 57| 47
=E R
NERET—ER 1000 373 343 283
. 11 3 8 0
B E 100.0[ 273| 7270 00
4 3 1 0
Tt 1000 750 250 00
1 0 0 1
m I
mEE 1000| 00/ 00/ 1000

82 R—

WMESIC/HET 27 0 X&EE (B 1 £XER)



22 @ BEEEHITETS ERNTT7OBEEHISHT

n B2 iz
i} | [=]
pa) paNl P23
%) %)
% %
& &
=S %
4% C
1z %
C
VA
Ly
1904 950 414] 630
& & 1000]| 476 208 316
2 BENEGR—LAILD)-E 695 308] 169] 218
RELT EFHBENTE 1000 443| 243| 314
WD — | e 288 117 78] 93
EX 4T i%:E 1000 406 271 323
= 73 34 24] 15
4 &
ek 1000| 466 329 205
- 434 196] 114] 124
BEXiE 1000 452 263 286
. 3 0 3 0
) s
RENE 1000 00 1000/ 00
e . _ 68| 34 30 4
PH ~ —
BFHEAAFT (P 3—kRTA) 1000l 500 441 59
. 185 88| 60 37
S g
EENE 1000| 476 324/ 200
B EIE (Bee- &8 -1/ 26 9 6 11
1) 1000 346 231 423
2 7t 1 106 59 23] 24
RABITX R 1000 557 217/ 226
e B 172 99| 18] 55
g g i
IR X AR 1000] 576/ 105 320
e - 298| 162] 54| 82
A o e
I EB 1000 544 181 275
et 47l 24 14 9
IR X R 1000 511 298 19.1
e 5 2 3 0
B R 1000| 400/ 600 00
HESEFER (U IIL—THR— 195 106 53 36
L) 1000| 544 272/ 185
n 1 =t 16 3 11 2
MR AR IR 1000 188 688/ 125
= ot 371 157 54| 160
|=]
REREXS 1000 423 146/ 431
. -t ta 1 0 0 1
SoSEAR A IR 2
E%uﬁﬁﬂ:JbE%Ei?ﬁ 100.0 0.0 0.0l 1000
rmre e e 415 181 59| 175
BREFTAH—ER 1000 436 142 422
s - sa 220 12] 19
REMSHEE 1000 415 226 358
PEALE AR X iR (1BHE R 1 1 0 0
BEASLNE AFRHEER) 100.0] 1000 00/ 00
PR rm 2 0 2 0
Ay =]
AR AR X iR 1000[ 00/ 1000/ 00
SHERH 1 (BEEEEL 225 107 66 52
WEAFRHEES) 1000| 476 293 231
P ge| 36/ 29/ 21
HEBITXIR 1000]| 419 337 244
et 8o 37 30| 22
HOIE R B S 1R 1000 416 337 247
. ot 138 65| 44| 29
=1 =k =B
AN RA X iR 1000]| 471 319 210
IR X R A — (ETE 7 2 3 2
XEZ) 100.0[ 28.6| 429 286
i EE X E A — (AR 10 4 3 3
BE) 1000] 400 300/ 300
e tm 8 1 5 2
B —Bik 1000] 125 625 250
. . 166 72| 49| 45
=E J—
TERRY—EX 1000] 434 295 27.1
. 1 4 7 0
SEEE 100.0| 36.4| 636/ 00
4 2 2 0
T Ot 1000 500 500 00
1 0 0 1
m e
RES 1000] 00 00/ 1000

83 R—y

WMESIC/HET 27 0 X&EE (B 1 £XER)

AXELELT.REVHHEBON TSI LEHYFET M (BT —RELTORETH. FIEMNLGRETLHETT )
E ®



WMESIC/HET 27 0 X&EE (B 1 £XER)

24 D KEBHDBALLT. ZERTRYHEATNSIEAHBYFETH,

n 7] Fl K B | #uBh | 58| &% B =54 5K 3
Py F == KoK | = &g &F| D i [
B & ic3 o[ E | A OB fih L &
£} D [z B | BR#E | & O BIC T
* 7 & | &OD | & #F O HP Ly
3 = I+ £ | E=E - | M@ B | Tl AN
5 T ) e | ¥R R % n | #£3 Ly
L B 23 L | &% 2| & h | BE
T » A T | B%K Al B E LK
Ly Vil pE W | 2FE Fr| L x| TH&
) P #& 5 | TH T BV
x ® (RY1)) H L = | BHF
R il % E &l 3 = 1))
& x # L i 1]
< ® Iz T L Jz]
Ly i ) ) T Iz
% L - 5 Ly 5]
< Y E %) El
Ly . x )
3 = = *t
kB I+ i
m < F
Dt L lIE
2 1994/ 1187] 1001 1257] 1178] 195] 122] 866/ 326/ 203 18 44 47
1000 595/ 502/ 630/ 59.1 98/ 61| 434 163] 102 09| 22| 24
523D et it 409 307] 229] 301] 291 67 47 241] 112 74 4 0 6
XM ITISRETETD 1000 75.1| 560/ 736/ 71.1| 16.4| 115/ 589 274 18.1 10/ 00 15
SHE - e 839 546/ 451] 561| 519 80 48| 390| 142 82 7 11 11
(%BCP)O) RE.REFTHS 100.0| 65.1| 538/ 669 619 95 57/ 465 169 98 08 13| 13
E ~ e 676 300/ 295/ 362 341 45 23] 220 63 44 5 30 17
THR.REFETHS 1000 44.4| 436| 536/ 504| 6.7/ 34/ 325 93 65 07 44/ 25
[ 70" 34 26 33 27 3 4 15 9 3 2 3 13
ETE 1000 486| 37.1| 471| 386| 43| 57| 214 129 43 29/ 43| 186

84 R—



WMESIC/HET 27 0 X&EE (B 1 £XER)

125 SHEROFEIOTIMNIILRABREEDRTICEIELT, EFEEFICEVT. BHEFEIREEMEISHLTY —ERDREEIToIENBYFETH,

n X L i
Ly Ly [a]
Z &
1004 963 973] 58
& & 1000] 483 488/ 29
fil2 BENEGR—LAILD)-E 695| 428] 242 25
R#ELT EFRNE 1000 61.6| 348 36
WY — | e 288| 184] 95 9
EX 4T % 1000| 639 330 3.1
et tme 73 a7] 25 1
fTaiReE 1000 644 342 14
- 434 273] 150 11
BEXix 1000 629 346 25
. 3 2 1 0
RENE 1000] 667 333 00
. _ 68| 50 17 1
o Hi Q —
S AR (2 3—kRTA) 1000l 735 250 15
P 185 106] 75 4
EENE 1000] 57.3| 405/ 22
B EI%E (Bae- &8 - 1808 26 14 12 0
) 100.0| 538 46.2 0.0
el et 1z 106 46/ 56 4
RABITIR 1000| 434 528 38
e - 172 62| 106 4
A g et
I IRAR 1000 360 616 23
o - 208 137] 154 7
4o 7
RIS RBE 1000] 460/ 517 23
e o 1 47 30/ 16 1
I X IR 1000| 638 340 21
et 5 5 0 0
B R 1000[ 1000/ 00/ 00
HEEFE (U IIL—THR— 195 136 54 5
L) 1000 69.7] 277 26
o et 16| 15 1 0
MR ARTX % 1000 938/ 63/ 00
e 371 108] 257 6
18
REREX 1000 291 693 16
. et e 1 1 0 0
SesERE R IR 2 -3
E%nﬁf‘ﬂﬁ:)ui%éi¢f 1000l 1000 0.0 0.0
e oar i 415 124] 283 8
BERESTAY—EX 1000| 299 682 19
s - 53 18] 35 0
REFFHEXZE 1000l 320 660 00
EAV R AR RIE (R i 1 o o
REASLNE AFTIEER 1000[ 1000, 00/ 00
PR R 2 2 0 0
\IB
REAVR AR R 100.0] 1000, 00/ 00
stEME S X iR (EREED 225 128/ 88 9
WRAFRTEER) 100.0[ 56.9| 39.1 4.0
et v 8o 53] 30 3
HEBITXIR 1000 616 349 35
e g go 55 3 3
HoIE R 5B IR 1000] 618 348 34
e ot 138 77 57 4
\IB AR SR
AL RS X IR 1000 558 413 29
i BB Rt — (EF 7 6 1 0
XER) 100.0[ 857 143 0.0
i EE B A— (AR 10 4 6 0
B 1000 400 600 00
ottt 8 6 2 0
B —RXik 1000 750/ 250/ 00
- N 166| 118] 43 5
H —
TERRT—ER 1000] 711/ 259/ 30
. - 11 8 3 0
= H
SEEE 1000 727 273| 00
4 3 1 0
Tt 1000 750 250/ 00
1 0 0 1
ﬂ Fobe
el 1000] 00/ 00/ 1000
R5230 (= o \ 409 208/ 193 8
2y I CIFRETITLS 1000 509 472/ 20
EHE o o 839 431 390 18
(Bop) (» | VE REHRTHD 1000] 514 465 2.1
RE ~ e 676/ 304| 358 14
TRREFRTHS 1000 450 530 21
s 70" 20 32 18
1000] 286/ 457/ 257

85 R—



HEEC/EHISIO0AEE (C: FHiE)

[ JEIS
BEEEEST HOR&Est
HT EES
o I8 O 18
i == | on [ i =
B— TAE
1 B— BEX
2 B— R
3 SN =i
4 B BEH VDR
5 B EN\E FIROIESE - SR
6 B X |EHRVOESE (EBMl)
7 B— FENWIER S
8 B FRULAIR
5 o . 5 [EHVEFIROESE- ik
9 B FIALTWBEN VBT —EX -
33 |2l
N o . 5 |[EHVEFIROESE- Sk
10 B SEAABLEVENMELY —ER -
33 |2k
3 o 5 |[EAVEFIROESE- Sk
11 ' % |FALTVRERUEY-EX -
33 |2k
. o 5 |[EAVEFIROESE- Sk
12 B % |SHBABLRVWREELEY-ER -
33 |E2k&
13 g |y |EOVEND-EX-REES0ES | 5 BIVEFIROEN- S
- |[MHERSE 33 2%
w | o [EpvEL REEY -t 2Z0RIA | 5 |EAVEFIROERE- Fik
14 wE| x o -
TERIL 33 |24
A sEEHNVELY—E2ZE0F] | 5 [EHAWEFEIROELE- SR
s | 15 e | %ﬁ::qa:tﬁabwmmv ERZEDF| _ﬂ *
FTESCE 33 |2k
3 o 5 |[EHAVEFIROESE- Sk
16 B B0 RES -
33 |2
17 B/ K | BTV 5 |EAVEFIROESE- Sk
3 N 5 |EAVEFIROESE- Sk
18 B/ | Xx |[REBVPEETRELCELLCE -
33 |E2k&
3 _ . 5 |[BEAVEFEIROESE- Sk
19 BE| X |RICWBTENZVER -
33 |E2ls&
20 B x| wELIEEGE 33 |2k
| 21 B FHEIOF OFRATCORDTE 33 |2k
| 22 B— RN FBRESOZIERIA 33 |2k

86 ~—




23 1B ZAR=YOEHAE
24 B x| AR-YOEHES
25 H—| X |[AR-YOEHEE
26 B X |[AR-YZEIZOIZXTOEEE
27 B SEBULVWAR=Y
5 [BENVEFIROTELE - EiR
28 BH—| X |[BBORER 31 |KR OV OERD
33 |2
| 5 [BEAVEFIROIEIE- SRk
59 | x z;“él:tzgzt BEHETRID R Yy -,
T 33 |e
30 B BEAVNCI TR TS ZE 5 [BENVEFIROTELR - Fik
31 B— FIERNVOBRIEEECRDOVA
31 B KOV OER 33 |2
32 B TILABSBESH S OIS 3 |&Fiin
33 BH— FEENV D2 OB R
33 B/ x |Z&
34 B IRFE DB 33 |2t
35 B FERENVTERLDTLSBE > Erﬁ%
33 |
36 B— FEFVDIZICONT 5 [EHVWEFIROELE - FH)
37 B | x [ABEHCOVT
38 B FEFVDIZEFEIR T DB
5 _ i 5 [BENVEFIROIELE - FiR
39 B 1BALCRA T BIBIRDODAFIR -
33 |2
40 B PENVEIRE (CAN RO AMEE 7 RO T
| 41 B EZRICRREZRCITEHCRELRSCL | 33 (2%
| 42 B > TWSERICBI T 2484 RO
43 B KERFOMX 33 |2t
44 L KERCRBLRSCE 33 |t
45 B KEZORBFCHNZRDDEF > Fﬁb{b%ﬂﬁ@ﬁﬁ =i
33 [t
46 B PENVE SR EMICED
47 S0l BHERR(5CiR)

87 ~—




MEEBICI|HI S ORERH (C: H:F)

o)

2 (21IBE T B0 xES (C:

QiR
9 HAEE=AFALTHNSEANMEUICET B2 —ERFIZRDIEENTTH,
n k| BN | & g = i =N 7 h Mo | R % B 2 = 7 E] = B S EEENE Fa Z =
S T T v S AT N~ U I~ S - S - S - SR AL S - 2 £ £ T 3 th ki T | & | In]oFE | FR vE| 9 n &l
2B A £ A | N oo o o E  EX ) o® & @ d 2 o» A - x| x| & #% )5 ELIRRI 4 5 &
" % B} 7 & i B B/ 1T o 5 & s f b3 % e ik B B . i 2 2 g %0 R % | B )
> o®| T T E o S B T = < /A - - A AN B S - < - S B TN B S B H
i — v I Bf B i i 7 % EZ@E i t il U5} Ly Ly w i & 23 i = E &= -k I
& 5 3 Ls BE A B —# Vi b2 ) U5 U5 & ~ ~ t | ()] B | AY E
~ &7 | £l o OB o I g =2 | A | A | E - B 3 | 2 B | Al 2
| & | b & % = ¥ | | | A o 2 2 | ~E z
£ 2 . 12 2 53 53 53 a ] 3 I . a W R F
) : T 4 : = 7 & 53 & | = & | % A
Bom 4 & g - | 27| 1| RE L
5| & i i x wloo | Z| B 5
& & . A B L 3 t X #
Eﬁ . — ﬁ y % N - li
m| B B % & 51 2 v & W
1 B ;A . ~ 9 i_‘ & )
% & 2 Y &
o 212 7 7 6 0 1 0 1 2 9 6 7 3 63 61 74 27 0 0 0 2 1 49 1 5 65 1 14 2 5 12 7
100.0 3.3 3.3 2.8 0.0 05 0.0 0.5 0.9 42 2.8 3.3 14| 297| 288 349 127 0.0 0.0 0.0 0.9 05/ 231 05 24| 307 0.5 6.6 0.9 24 5.7 3.3
RE5 e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E%g% BAREANEFIRR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 1 1 0 0 0 0
g% FREHSVEFR2 100.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0 0.0 0.0 0.0/ 100.0| 100.0| 100.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRRANEFIRIMB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BARREANEF R4 o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B ARREANEF RS o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRRANE FIRCEK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B FIEA 19" 1 4 4 0 0 0 1 0 0 0 1 0 9 6 12 4 0 0 0 0 0 1 0 0 7 0 2 0 0 0 0
? 100.0 53| 211 211 0.0 0.0 0.0 5.3 0.0 0.0 0.0 5.3 00| 474| 316| 632 211 0.0 0.0 0.0 0.0 0.0 5.3 0.0 00/ 368 00| 105 0.0 0.0 0.0 0.0
P 9" 0 1 2 0 0 0 0 0 0 0 1 0 4 3 6 1 0 0 0 0 0 1 0 0 2 0 0 0 0 0 0
100.0 00/ 111 222 0.0 0.0 0.0 0.0 0.0 0.0 00| 11.1 00| 444 333 667 111 0.0 0.0 0.0 0.0 00| 111 0.0 00/ 222 0.0 0.0 0.0 0.0 0.0 0.0
P — 48" 0 0 0 0 0 0 0 0 2 1 0 0 19 19 24 8 0 0 0 0 0 3 0 0 17 0 4 1 1 1 2
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 42 2.1 0.0 00| 396/ 396/ 500/ 16.7 0.0 0.0 0.0 0.0 0.0 6.3 0.0 00/ 354 0.0 8.3 2.1 2.1 2.1 42
FBHENVERERILFIR 2" 1 1 0 0 0 0 1 0 0 0 0 0 2 0 0 0 0 0 0 0 0 2 0 0 2 0 1 0 1 0 0
#H 1000/ 50.0| 500 0.0 0.0 0.0 0.0/ 500 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0 0.0/ 100.0 0.0/ 500 0.0/ 500 0.0 0.0
EAELSLE R EELFIR2 31" 1 1 0 0 0 0 0 0 3 2 3 1 10 3 5 2 0 0 0 0 1 15 1 2 16 0 1 0 2 1 1
#® 100.0 3.2 3.2 0.0 0.0 0.0 0.0 0.0 0.0 9.7 6.5 9.7 32| 323 97| 16.1 6.5 0.0 0.0 0.0 0.0 32| 484 3.2 6.5 51.6 0.0 3.2 0.0 6.5 3.2 3.2
BHENSVEREBEBALFIRS 42" 5 1 0 0 1 0 0 1 6 4 2 2 9 2 5 1 0 0 0 1 0 25 0 2 23 0 3 1 1 1 1
E35Y 1000/ 11.9 24 0.0 0.0 24 0.0 0.0 24| 143 9.5 48 48| 214 48| 119 24 0.0 0.0 0.0 24 00| 595 0.0 48| 548 0.0 7.1 24 24 24 24
oLV 61" 0 0 0 0 0 0 0 1 0 0 0 0 11 27 23 10 0 0 0 0 0 4 0 1 0 0 3 0 0 8 1
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.6 0.0 0.0 0.0 00| 180/ 443| 377 164 0.0 0.0 0.0 0.0 0.0 6.6 0.0 1.6 0.0 0.0 4.9 0.0 0.0/ 13.1 1.6
mE 4" 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 2
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 250/ 250 00| 250 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 250 500

88 ~—




WEEZ(CI|HEF T L7 0REET (C:
(=) HEE=AFALTVSENNERIZET 29 —EXZEIFRDSIEENTTH,
n S Py 5 g B i 3 B h wh Th | =] ® = B E ] B B B Hh H F = ~= Fa fl &=
bl oy | & E | X 0y | 0y | 0y 0y | XB 08 | R 08 0 | #  &R | %2 | k| x| x| @ | K F | R EE 0| n | @
LB A I £ A | || B o o® | %§ % | & | | 3 ¥ @8- X X & X B ﬁ Rl e e &
o % i P ii.; A i 5 11 5 5 5 | f = % _% i II% IIE . i B = E2) o R s Ao )
S |lg o | ™| B ~ | X | X XX # | X | T | @ T - - T R A ke
= = < | Bh 14 32 52 i g w5 | B 1 i 7} (A (A ® 52 = = 52 = E g | |
e 5 3 Is BE A B # v * = R " & ~ ~ 4 e » B wYy E
~ P I H| i) i) e I E % A A & % B v 2| = | Z
= 2 k & * £ Z i i A v 157 2 = o) #E =
£ # 3 . 7 2 53 b3 53 a ] 3 I . a L 2 F
) . T 4 . B B & 53 =3 ) = & %= 2]
B | # 1 z nos & # ﬁ
& & . #* B L 3 % X #
B . _— ﬁ % . " =
M| B T 2 " 5 ¥ o = L
| W A : ~ v | X | ¢ #
b3 B K > i Y &
- i ~ At I 8 e
- L @ ® L
[} fF BE [}
s} % ~
& ik 212 7 7 6 0 1 0 1 2 9 6 7 3 63 61 74 27 0 0 0 2 1 49 1 5 65 1 14 2 5 12 7
100.0 3.3 3.3 2.8 0.0 0.5 0.0 0.5 0.9 42 2.8 3.3 14| 297 288 349| 127 0.0 0.0 0.0 0.9 05 23.1 0.5 24| 307 0.5 6.6 0.9 2.4 5.7 3.3
R5332 LA _ 68 2 5 6 0 0 0 1 1 0 1 3 1 27 27 34 16 0 0 0 0 0 7 0 0 17 0 5 0 0 3 1
e Sl LIC e 100.0 2.9 74 8.8 0.0 0.0 0.0 15 15 0.0 15 44 15| 39.7| 397| 500| 235 0.0 0.0 0.0 0.0 00| 10.3 0.0 00| 250 0.0 7.4 0.0 0.0 4.4 1.5
s e B e LA _ 3 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 1 2 0
BRRERFIE C o T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 0.0 00| 333 0.0 0.0 00| 333| 66.7 0.0
FARIWAH—EER SIS 22 2 0 0 0 1 0 0 0 2 0 2 0 7 4 3 1 0 0 0 0 0 8 0 0 11 0 2 0 2 3 1
hi= 100.0 9.1 0.0 0.0 0.0 45 0.0 0.0 0.0 9.1 0.0 9.1 00| 318| 182| 136 45 0.0 0.0 0.0 0.0 00| 364 0.0 00 500 0.0 9.1 0.0 91| 136 45
R SERAL (BREST) - BFER 112 3 2 0 0 0 0 0 1 6 3 3 2 33 31 38 9 0 0 0 2 1 33 1 4 38 1 6 1 3 4 1
RIS LRSS EBEENL 100.0 2.7 1.8 0.0 0.0 0.0 0.0 0.0 0.9 5.4 2.7 2.7 18| 295| 277 339 8.0 0.0 0.0 0.0 1.8 09| 295 0.9 36/ 339 0.9 5.4 0.9 2.7 3.6 0.9
— . _ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R BRE RIS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEREANLN(LD) R HEE 5 0 0 0 0 0 0 0 0 0 1 0 0 1 2 2 2 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0
fE &L ESNT= 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 200 0.0 00| 200| 400| 400| 400 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 400 0.0 0.0 0.0 0.0 0.0 0.0
AERINZENIEEA 53 2 0 1 0 1 0 0 1 5 4 0 1 12 13 18 8 0 0 0 0 1 15 0 2 19 0 5 1 1 5 1
(ADHD) &E2BrEn - 100.0 3.8 0.0 1.9 0.0 1.9 0.0 0.0 1.9 9.4 75 0.0 19| 226| 245| 340| 15.1 0.0 0.0 0.0 0.0 19| 283 0.0 38/ 358 0.0 9.4 1.9 1.9 9.4 1.9
T FEEELSLDEZEE 13 0 0 0 0 0 0 0 0 0 0 0 0 2 4 4 2 0 0 0 0 0 3 0 0 4 0 1 0 0 1 1
S+ 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 154| 308| 308| 154 0.0 0.0 0.0 0.0 00| 23.1 0.0 00/ 308 0.0 7.7 0.0 0.0 7.7 7.7
e S« e _ 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
RERA TG L 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0
wE 3 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 1 0 0 0 0 1 0 0 0 1
T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 00| 333 0.0 0.0 0.0 0.0 0.0 00| 333 0.0 0.0 0.0 00| 33.3 0.0 0.0 00| 333

89 ~—




10 St SEMALIZVEBSEALMEIISRT 29 —EXFF. RDOSLENTT A,

n R & = Y E] o vE | 2@ | #m 18 # E | f&m | F z &3 3
| H #A L i B4 | Fr i1 B %8 B/ | FR| ) 1= =
Ly B A I & A E Iz Iz Iz * = B EX ] fth AN %
~ ) i 7 & T | A& S B = . ) & | 3 L
oL X - 7N # Y v El S| =1 » 2
= D I B 7 & %) w B b E
LAY 3 Ly # 5| X &£ 23 g »
E I LAy v E & b5 Z| a
[ E & A Iz 5l =
R z & 8 S B a
T =% Hl El . =
4 I+ & % E r
~ T| % % EE
=} E = & o
th % paN 3
& = L v
3 I+ H| X
% %) 2 =
17 + 2
5 [ <
E [
2 1k 212 13 19 20 18 20 8 7 69 67 92 3 29 52 0 6 39 9
100.0 6.1 9.0 9.4 8.5 9.4 3.8 33| 325 316 434 14| 137 245 0.0 28| 184 42
5 TR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Bﬁqfét\?‘; SRELSVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FIRD . 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
%5 . == Ea A 24
|5 | FRELSVETFR2R 100.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0
N 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N 5
SARANEFIRIMB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N AY :
SREANEFIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SARREATNEFIRSH 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
SAIRANE FIRCHK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 5 10 9 7 3 4 4 10 6 8 0 3 7 0 0 1 2
REFIRA 100.0" 26.3| 526 474 368 158 21.1| 21.1] 526 316/ 42.1 00/ 158/ 368 0.0 0.0 53 105
9 0 2 3 5 3 1 2 4 6 6 0 2 4 0 0 1 0
J B1
RAFIR 100.0" 00| 222| 333 556| 333 11.1| 222| 444| 66.7| 66.7 00| 222| 444 0.0 00| 11.1 0.0
— 48 1 5 5 4 6 1 0 23 11 15 0 4 11 0 1 11 2
REFIRB2 100.0" 21| 104| 104 83 125 2.1 00| 479/ 229/ 313 0.0 83| 229 0.0 21| 229 42
FBHENVERERILTFIR 2 1 1 1 1 0 1 1 1 0 2 0 2 2 0 0 0 0
& 1000 50.0/ 500/ 500 50.0 00| 500/ 500/ 50.0 0.0/ 100.0 0.0/ 100.0/ 100.0 0.0 0.0 0.0 0.0
FBHEASVEREEULFIR2 31 3 1 1 0 4 0 0 6 13 15 1 7 9 0 0 4 0
i 100.0 9.7 3.2 3.2 00| 129 0.0 00| 19.4| 419 484 32| 226 290 0.0 00| 129 0.0
FBHENVEREBUFIRS 42 4 1 1 1 3 1 0 4 16 24 2 8 14 0 4 6 2
& 100.0 9.5 2.4 2.4 2.4 7.1 24 0.0 95 381 57.1 48| 190 333 0.0 95 143 48
61 0 0 0 0 0 0 0 20 14 23 0 3 4 0 1 16 2
= VAR
FoTval 100.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 328/ 230 3717 0.0 4.9 6.6 0.0 16| 262 3.3
wE 4 0 0 1 1 1 1 1 2 2 2 0 1 2 0 0 0 2
e 100.0 0.0 00/ 250/ 250/ 250/ 2504 250/ 500/ 500/ 500 00/ 250/ 500 0.0 0.0 00/ 500
fH33 = L _ 68 6 12 13 12 7 6 4 25 24 29 0 9 15 0 1 17 2
EAuiE Sl e 100.0 88| 176| 191 | 176| 103 8.8 59| 36.8| 353| 426 00| 1382 221 0.0 15| 250 2.9
- - 3 0 0 1 0 1 0 0 0 1 3 1 2 2 0 0 0 0
= L, K E‘ﬁ) 1) .
BB LM T 100.0 0.0 00| 333 00| 333 0.0 0.0 00| 333| 1000| 333| 66.7| 66.7 0.0 0.0 0.0 0.0
FARIH—EREE LIS 22 1 1 2 1 3 1 1 6 11 11 0 6 8 0 1 4 2
hi= 100.0 45 45 9.1 45| 136 45 45| 273| 500/| 500 00| 273| 364 0.0 45| 182 9.1
B REREAL (FHRESD) - BRIER 112 7 11 6 8 12 3 4 38 34 56 2 19 31 0 2 16 3
RIS LEMSO DI 100.0 6.3 9.8 5.4 71| 107 2.7 36| 339| 304| 500 18] 17.0| 277 0.0 18] 143 2.7
- 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
== 5 ) X -
SRR B LB M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEFEE 5 0 0 0 0 0 0 0 0 2 1 0 1 0 0 0 3 0
ELB TSN T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 400| 200 00| 200 0.0 0.0 00| 60.0 0.0
B RNZENEREA 53 3 1 3 2 3 2 1 14 19 24 1 9 12 0 1 12 1
(ADHD) &2 1SN T 100.0 5.7 1.9 5.7 3.8 5.7 3.8 19| 264| 358| 453 19| 170| 226 0.0 19| 226 1.9
ZTOMDFEEENVDZEE 13 0 1 2 2 2 1 2 7 7 7 0 2 5 0 0 1 0
ZF1= 100.0 0.0 77| 154 154| 154 77| 154 538| 538| 538 00| 154| 385 0.0 0.0 7.7 0.0
. . 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
ZEENLTII LI ST
RERDN TG T, 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0
mE 3 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 1
e 100.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 00| 333 0.0 0.0 0.0 0.0 0.0 00| 333

90 ~—

o)

Z2(01BET B0 RES (C: FF)



1 HLAFALTW S RERUFICET S —ERTRDILENTT H,

n [l e 7 ¥ % e =
= B 7 B ) Iz 5]
L % = T it AN &
=3 U5 1) H (A
L = I [
= 9 . 7
s 4 KA %
B J 7N A
% —_ I E
E = k o
3 = . 15
&R + )
5 v =
- 2 B
I <
= 53
* =
& 1K 127 47 8 6 5 16 48 6
100.0] 37.0 6.3 47 39| 126 378 47
15 e ¢ 0 0 0 0 0 0 0 0
EI@\% BREANEF RS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
D R 0 0 0 0 0 0 0 0
|- | FERALEFR2E o.o" 00, 00/ 00 00 00 00 00
TN 0 0 0 0 0 0 0 0
A :
SARIEANNE F IR 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0
N A :
SREANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0 0 0 0 0 0 0 0
N A >
SARANEFIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0
A\ :
BARIEANNE F 1RO o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 17 4 1 2 0 2 8 2
RATFIRA 100.0" 23.5 59| 11.8 00| 118/ 471 118
e 7 3 0 0 0 0 4 0
REFIRB 100.0" 429 0.0 0.0 0.0 00| 571 0.0
e 41 17 1 1 2 7 12 2
RAFIRB2 100.0" 415 2.4 2.4 49| 17.1] 293 4.9
FEHELSVERBELFIR 0 0 0 0 0 0 0 0
& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BHENVEREBEULFIRS 8 1 0 0 0 3 4 0
& 100.0] 125 0.0 0.0 00| 375/ 500 0.0
FBHENVERERALFIRI 6 3 2 0 0 0 3 0
5 100.0ff 500/ 333 0.0 0.0 00| 500 0.0
47 19 4 3 3 4 17 1
= V(A
ot 100.0" 204 85 64 64 85 362 21
wE 2 0 0 0 0 0 1 1
100.0 0.0 0.0 0.0 0.0 0.0/ 500/ 500
1332 T _ 56 20 4 2 2 9 21 3
EALiE] BFE ST 1000 35.7 7.1 3.6 36| 16.1| 375 5.4
- N 0 0 0 0 0 0 0 0
= =Y 3 :4) u -
AR RFIE o T 0o0ff 00| 00| 00| 00| 00 00| 00
FARIVA—IEIREE L2 MRS 7 1 0 0 0 1 3 2
ni= 1000 143 0.0 0.0 00| 143| 429| 286
IL:f}lTi_?éizﬂﬁﬁfL\_(%‘I&ﬁE‘é‘t‘) -BHEAER 61 25 3 1 1 7 25 2
RIS LB EBHTEN T 1000 41.0 4.9 1.6 16| 115| 410 3.3
- 0 0 0 0 0 0 0 0
== 5 ) X _
R BRIE LML 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEHLND) - [RREEEE 2 2 0 0 0 0 0 0
JELEBISNT= 100.0 || 100.0 0.0 0.0 0.0 0.0 0.0 0.0
EERINZENEREAL 25 8 0 0 0 3 12 2
(ADHD) &2 = 100.0| 32.0 0.0 0.0 00| 120| 480 8.0
ZTOHDOFEEELSLDEZEE 8 6 1 1 0 0 1 0
St 1000 750| 125| 125 0.0 00| 125 0.0
. < 0 0 0 0 0 0 0 0
EMENNTIIAE T
RERATREGN T 0ol 00|/ 00| 00| 00| 00| 00| o00
wE 1 0 0 1 1 0 0 0
100.0 0.0 0.0 | 100.0 | 100.0 0.0 0.0 0.0

91 R—

o)

Z2(01BET B0 RES (C: FF)



12 HRENSEAALEVEESRERUFY —ERFIRDILENTI A,

n 7 3 7 ¥ z =2 &=
3 B 7 5 » Iz E]
L % = < ith AN %
3 Izl 1 4 L
L = I I
3 9 . 7
s 4 Y |2
B 7 i~ LAY
% —_ I g
-3 = k ih
E S = . b
® + )
5 v F
- 2 B
I T
= 53
ES =
127 56 21 19 7 8 41 7
= 100.0| 44.1| 165 150 55 6.3 323 55
fH5 VRSN 0 0 0 0 0 0 0 0
Bﬁ@t\% SRELSVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FIRD R 0 0 0 0 0 0 0 0
|- | FERSLEFR2E 0.0" 00/ 00/ 00 00 00 00 00
N 0 0 0 0 0 0 0 0
N 5
SARANEFIRIMB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0
N AY :
SREANEFIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0
N A :
SARREATNEFIRSH 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0 0 0 0 0 0 0 0
A :
SAIRANE FIRCHK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 17 3 2 3 1 3 7 2
REFIRA 100.0" 176 11.8| 176 59| 17.6] 412| 118
] 7 3 0 1 0 0 3 0
RAFIRB 100.0" 42.9 00| 143 0.0 00| 429 0.0
e 41 20 8 8 3 2 13 0
REFIRB2 100.0" 488/ 195/ 195 7.3 49| 317 0.0
FEHEAVLERBELFIR 0 0 0 0 0 0 0 0
& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FBHEASVEREEULFIR2 8 2 1 2 0 1 3 0
#h 1000 250/ 125 250 00| 125/ 375 0.0
FEHELAVE R EEALFIRS 6 3 1 0 0 0 3 0
& 100.0]| 500/ 16.7 0.0 0.0 00| 500 0.0
47 25 9 5 3 2 13 3
= ARLY
FoTval 1000 53.2| 19.1| 106 6.4 43| 217 6.4
WE 2 0 0 0 0 0 0 2
100.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0
133@ e s _ 56 22 8 5 1 5 23 3
EAuiE Sl e 100.0| 39.3| 143 8.9 1.8 89| 41.1 5.4
- - 0 0 0 0 0 0 0 0
= L, K EI;/\ 1) .
BB LM T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FTARIAH—EIER LSS 7 2 0 1 0 1 2 1
hi- 1000 28.6 00| 143 00| 143| 286| 143
IRAMKREEAL (FRIEST) - BFER 61 28 10 10 4 4 17 2
RIS LEMSO DI 1000 459 | 164 | 16.4 6.6 66| 279 3.3
] 0 0 0 0 0 0 0 0
EH LM -
SRR B LB M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEFEE 2 0 0 0 0 0 2 0
SELEZ SN 100.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0
B RNZENEREA 25 12 1 2 1 1 10 1
(ADHD) &2 1SN T 100.0(| 48.0 40 8.0 40 40| 400 40
ZTOMDFEEENVDZEE 8 5 1 1 1 0 2 0
ZF1= 1000 625| 125| 125| 125 00| 250 0.0
. . 0 0 0 0 0 0 0 0
ZEENLTII LI ST
RERDN TG T, 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
mE 1 1 0 0 0 0 0 0
100.0 || 100.0 0.0 0.0 0.0 0.0 0.0 0.0

92 R—

o)

Z2(01BET B0 RES (C: FF)



13 HEFLDEAVELICET Y —ERE, FRERERU Y —EXZLZFATHICHY FITHRSAEDFRDSIEENTTH,

n X 3 b= E = h # 18 z 18 3
*& H ) & i 15 B B ) B =]
i (A (A H + a . 52 b L %
. £ = R l\ & & £ T
®R = il E X 5 L
2 &% Iz z = 1 LAY
& 8 ] = t & L
1t B El e >
+ b3 3 i 3
> | & | H I
e + R
| v b3
3 =
I =
E
i
2 1k 200 71 12 9 11 4 0 11 3 2 7 70
100.0| 35.5 6.0 45 55 2.0 0.0 55 15 1.0 35/ 350
fH5 VRSN 0 0 0 0 0 0 0 0 0 0 0 0
Bﬁ@b\?‘; SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FIRD . 1 1 0 0 0 0 0 0 0 0 0 0
5, &AL 24
|5k | FRELSLETFR2R 100.0" 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0
A :
SARANE FIR3MB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I 0 0 0 0 0 0 0 0 0 0 0 0
N A >
SREANEFIRAR 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0
N AY :
SARIEATNE F RS 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SAIRANE FIRCHK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 6 1 2 0 1 0 2 0 0 1 6
REFIRA 100.0" 31.6 53 105 0.0 5.3 00/ 105 0.0 0.0 53 31.6
] 9 3 0 0 0 0 0 2 0 0 0 4
A FIRB 100.0" 33.3 0.0 0.0 0.0 0.0 00| 222 0.0 0.0 00| 444
47 26 0 2 2 0 0 4 0 0 1 12
| z== BZ
RAFIR 100.0" 55.3 0.0 43 43 0.0 0.0 8.5 0.0 0.0 21| 255
FBHENVERERILTFIR 2 0 0 0 0 0 0 0 0 0 0 2
& 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0
BHENVEREFAFIR2 30 6 4 4 0 1 0 0 2 0 4 9
#h 100.0] 200/ 133 133 0.0 3.3 0.0 0.0 6.7 00/ 133 300
FEHELSVE R EELTFIRS 41 10 5 1 4 1 0 0 1 2 1 16
& 1000 244 122 2.4 9.8 2.4 0.0 0.0 2.4 49 24| 390
53 20 2 1 5 1 0 3 0 0 0 21
= ARLY
FoTval 100.0" 37.7 38 1.9 9.4 1.9 0.0 5.7 0.0 0.0 00| 396
wE 3 0 0 0 0 0 0 0 0 0 0 3
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0
fE133@ = L _ 65 26 2 3 3 1 0 7 1 1 2 19
g Sl N 100.0|| 40.0 3.1 46 46 1.5 00| 108 15 15 31| 292
- - 1 0 0 0 0 0 0 0 0 0 0 1
=R A ) EX -
ARt RRME LM T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
FARIH—ERE LIS 19 4 3 1 3 0 0 0 2 1 0 5
hit= 1000 21.1| 158 53| 15.8 0.0 0.0 00| 105 5.3 00| 263
RS (BRIEST) - AFIER 108 40 7 6 5 3 0 4 3 1 5 34
NOLTLEREBEE L 100.0]| 37.0 6.5 5.6 46 28 0.0 3.7 28 0.9 46| 315
. 0 0 0 0 0 0 0 0 0 0 0 0
== ) e LSow —
R B LBHSh T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEFEE 5 0 2 0 0 0 0 0 0 0 0 3
SELE SN 100.0 00| 400 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 60.0
AERMZENEREA 48 19 4 0 3 0 0 2 2 0 2 16
(ADHD) &2 1SN T 100.0(| 39.6 8.3 0.0 6.3 0.0 0.0 4.2 4.2 0.0 42| 333
ZTOMDFEEZEENVDZEE 12 2 1 0 2 0 0 1 0 0 1 5
ZF1= 1000 16.7 8.3 00| 167 0.0 0.0 8.3 0.0 0.0 83| 417
. . 1 0 0 0 0 0 0 0 0 0 0 1
ZEENLTII I ST
RERSN TG T, 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
mE 3 0 0 0 0 0 0 0 0 0 0 3
e 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

93 R—

o)

Z2(01BET B0 RES (C: FF)



14 HEI=NENNEUICETE Y —ERE FLFRERUY—ERFERALTOTESCLE. ROIBENTI A,
=

n F AN Y| R WE | & b3 % [=] =
H ¥ Loyl 22 AR I ) Iz )
is3 T XN IZE i3 (A Iz E b LAY &
R N I <R | @ D | B z (A
. i v | LA F w| M Il
F Y b2 5| BE | =
H LAY = v | & #
= Ly 8 M|oA s | A )
h . ) A H C h =1
il 57 0 |l n = | M 18
y | 8 | # oy Hon |
VA yaN » E 1= I % X
Ly 2 B 1= < E A =3
Y = 5] < z| & Ly
LAY 5 ER | "N Aa
L E 5| % z | #
) | T it | A
= E| ® T | X
+ n 3 h| &
» H A A
2 1k 200 19 37 26 34 34 25 26 17 12 38 45
100.0 95/ 185 130/ 170/ 170/ 125/ 130 85 6.0/ 190/ 225
55 N 0 0 0 0 0 0 0 0 0 0 0 0
1= LS Al 1
Ba%t\?; SHRHNEFRIR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FIRD . 1 0 0 0 0 0 0 0 0 0 1 0
5, E AN 21
|-%p | FRELSLETFR2R 100.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SARANE FIRIMB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SRRANEFIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0 0
A\ :
BARREANNE FIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0 0
N A :
B ARREANEF RO 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 1 9 7 1 3 4 1 0 3 3 2
REFIRA 100.0" 53| 474 368 53| 158 21.1 5.3 00| 158 158/ 105
9 1 1 2 0 0 2 2 2 0 4 1
BEEFIEB1
REFIR 100.0" 111 111 222 0.0 00| 222| 222 222 00| 444 11.1
e 47 7 8 6 9 9 8 9 7 4 5 6
RAFIRB2 100.0" 149| 170/ 128 19.1] 19| 170/ 19.1| 149 85 106 128
FEHELSVERBEATFE 2 0 1 2 0 0 1 0 0 0 0 0
& 100.0 00| 50.0/ 100.0 0.0 00| 500 0.0 0.0 0.0 0.0 0.0
BHENVNERERALFIR2 30 4 4 1 6 5 3 4 2 0 8 6
5 1000 133 133 33| 200/ 167 100/ 13.3 6.7 00| 267 200
FAHELLEREEULFIRS 41 2 7 4 10 7 4 4 5 2 7 17
& 100.0 49| 1741 98| 244 171 9.8 98| 122 49| 17.1] 415
53 4 8 5 9 10 4 6 1 3 11 12
= ALY
BTVl 100.0" 75| 151 94| 170 189 75 113 1.9 57| 208 226
wE 3 0 0 0 0 0 0 0 0 0 0 3
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0
f133@ s _ 65 7 15 14 8 12 9 8 7 5 14 8
B Sl e 1000 108| 231| 215| 123| 185| 138| 123| 108 77| 215 123
- . 1 0 0 1 0 0 0 0 0 0 0 0
= s Do ) ENY -
BitRE BRI LM T 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FARIVAH—IEIRRE LTS 19 3 2 1 2 2 1 3 1 2 6 5
ni= 1000 158 | 105 53| 105 105 53| 15.8 53| 105| 316| 263
B REREAL (FHAESD) - BRER 108 14 23 12 22 19 10 17 10 5 23 22
RIS BRI EB I L 1000 13.0| 213| 11.1| 204| 176 93| 157 9.3 46| 213| 204
] 0 0 0 0 0 0 0 0 0 0 0 0
=7l e LEs _
R BFIECBHENT 00 00| 00| 00| 00| 00| 00| 00| 00| 00| 00| 00
BREHALV(LD) -[REHEE 5 0 1 0 2 2 0 0 0 0 0 3
IEEZMESNT 100.0 00| 200 00| 400| 400 0.0 0.0 0.0 0.0 00| 600
EERMLEEREA L 48 5 9 3 10 8 4 7 4 4 11 11
(ADHD) L2t 1000 104| 188 63| 208| 16.7 83| 146 8.3 83| 229 229
ZTOMDOFEEELLDEEE 12 2 2 0 3 0 1 2 0 1 2 3
1= 1000 16.7| 16.7 00| 250 0.0 83| 167 0.0 83| 16.7| 250
. . 1 0 0 0 0 0 0 0 0 0 0 1
ZEENLTITEIHST-
RERONNTREGN T, 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
wE 3 0 0 0 0 0 0 0 0 0 0 3
e 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

94 R—

o)

Z2(01BET B0 RES (C: FF)



RI15 #FHEaO0F DA )L AREEED T

n m @f;; ML | IZE ﬁ M“ﬁ R | A ’ZJE; Z %% 3
\ g F P Jpk -
YA Tn ifﬁo *IJ_# LT BT &R i”’ - F D (= =]
% | to | AL | B | fp S | At | B | g it p =z
L b4 | f-B | TH | n@ TE | gpae | £ E Ly
Tx | aft o | BA | mx L | | Yo
WE | BT < | gL | BE 31 | o - % B
<& w o * | nE EFR | Xt e | A
N A I \PA S R % | g MNE | Ew
af = 2 % > | e & wma RS
S Y ETR ® ko | E | Ea | BN
1/ () = % % 3 AN A FY= DIk
=& & Z = 1= T wr t= ~
o~ na mo B P | P& R 5
| = 7 75@ g . 2] A | TH #
73 & E ®HE N
2 Y » E ;% S X & ;\ = +
S B ® h pa) o >
7 % T & % % 8 g | D -
T g = T 5] "?'F:ﬁ ﬂm 24 1
YA = [ 1= — 1 b
532 ﬁ ? _?, & E & ¥ iz ; T
5 < - % Z% F3 o
o = P N + =4 P B
S 1 < F | & * 5 =
= K © B £ RE Z .
. bl @ Fi] z (A3 % 2 #
=) & - () % . = 5]
) % El = i 2 % M 12}
g b i Ly # It b . iE
o i1 i * 27 F E=3
2 1k 200 16 3 17 7 0 9 1 2 9 10 102 44
100.0 8.0 15 8.5 35 0.0 45 0.5 1.0 45 50| 510/ 220
B35 N 0 0 0 0 0 0 0 0 0 0 0 0 0
Bﬁ@t\% SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FiRD . 1 0 0 0 0 0 0 0 0 0 0 1 0
5 . YA 21
-5 | SREASLEFIR2E 100.0" 00, 00/ 00 00 00 00 00 00 00 00 1000 00
TN 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
BRREANEF RSB 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0 0 0 0 0 0 0 0 0 0 0 0 0
N 5
SRRANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SREANEFIRSH 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0 0 0
\ \ 6!
S ARIEANNE F RO o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 3 1 4 2 0 2 1 0 4 2 3 3
REFIRA 100.0" 15.8 53| 211 105 00/ 105 5.3 00| 21.1| 105/ 158 158
9 2 1 1 0 0 2 0 0 0 0 4 1
By B1
RAEFIR 100.0" 222 111 1141 0.0 00| 222 0.0 0.0 0.0 00| 444 11.1
47 1 1 3 0 0 2 0 0 2 2 32 6
J B2
RAFIR 100.0" 2.1 2.1 6.4 0.0 0.0 4.3 0.0 0.0 43 43| 681 128
FEHELSVNERBEAFIE 2 0 0 0 1 0 0 1 0 0 1 0 0
& 100.0 0.0 0.0 0.0/ 500 0.0 00| 500 0.0 0.0/ 500 0.0 0.0
FBHENAVERERILFIR2 30 3 0 2 1 0 0 0 1 0 0 18 6
& 100.0] 10.0 0.0 6.7 3.3 0.0 0.0 0.0 3.3 0.0 0.0/ 600/ 200
FBHELAVE R BIELTFIRS 41 3 0 6 2 0 3 0 0 0 3 16 14
% 100.0 7.3 00| 146 49 0.0 7.3 0.0 0.0 0.0 73| 390 341
53 4 0 1 2 0 0 0 1 3 2 30 13
d ALY
BTVl 100.0" 75 0.0 1.9 3.8 0.0 0.0 0.0 1.9 5.7 38| 566 245
wE 3 0 0 0 0 0 0 0 0 0 0 0 3
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0
fH33Q2 65 6 3 7 4 0 5 1 0 4 2 34 9
E e BRELBHS T 100.0 9.2 46| 108 6.2 0.0 7.7 15 0.0 6.2 31| 523| 138
- - 1 0 0 0 0 0 0 0 0 0 1 0 0
= AT = LSo -
BitRE BRI LM T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0
FARIVA—IEIRRE LTS 19 2 0 1 1 0 0 0 0 0 1 9 6
ni= 1000 105 0.0 5.3 5.3 0.0 0.0 0.0 0.0 0.0 53| 474| 316
M SR AL (BREEAT) - ARER 108 10 1 10 4 0 5 0 1 4 8 58 20
RIS LB ERTEh T 100.0 9.3 0.9 9.3 3.7 0.0 46 0.0 0.9 3.7 74| 537| 185
0 0 0 0 0 0 0 0 0 0 0 0 0
F o
SFERBRIECSHTN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEFE 5 0 0 1 0 0 0 0 0 0 0 1 3
SEEE SN 100.0 0.0 00| 200 0.0 0.0 0.0 0.0 0.0 0.0 00| 200| 60.0
AERIMZBENIEEL 48 6 0 3 1 0 3 0 1 0 4 24 12
(ADHD) L2l snt= 1000 125 0.0 6.3 2.1 0.0 6.3 0.0 2.1 0.0 83| 500 250
ZTOMDFEEELSLDEEE 12 1 0 2 0 0 1 0 1 0 0 6 3
ZF1= 100.0 8.3 00| 167 0.0 0.0 8.3 0.0 8.3 0.0 00| 500| 250
. . 1 0 0 0 0 0 0 0 0 0 0 0 1
ZEENLTILEI ST
RERMNNTREGN T, 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0
wE 3 0 0 0 0 0 0 0 0 0 0 0 3
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0

TICEHEL T, HIRT= EAVENICEE S 54— EZ% FREREFEUY—EXFEIALTOWTRESILE, RDSEENTT D,

95 R—

HEE

ICIBE T 5 0 REST (C: &)



16 HHET-OBEHPDEEEHIL RDIBENTTH,

n AR | 2— | Fl@E | LR #h ESRES ] i z =
XH fr | AT | TR 1 B = =% 1)) =]
B | LE| L by LA - 1z th =
=B % T %R E3)) Té& A A
39| N AR N . (AW o o
ok 5 3L [ R B l’f L
5HE = B vl 3 | AmE
M B oy ey T | T
20 * Ly L 5 Kz (A Ly
% N & 2 4 < ) %
1R " il ) 7 - R
X = 1z I & Iz
% th &) 5 I ) 0
L A A v o %
ER 17 % 3 E -
Jl E "j' > Iz t
& . | 7| s s
% | Tl e & om 2
<y | Bz o L 0
L Ly Ay E|OT ~
5 < & ) Ly =T
B | % | % S
2 1k 212 131 36 25 14 3 21 1 1 5 8
1000 61.8] 170 118 6.6 14 9.9 0.5 0.5 2.4 3.8
515 VRN 0 0 0 0 0 0 0 0 0 0 0
Bﬁ@t\% SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FiIRD . 1 0 1 0 0 0 0 0 0 0 0
%5 AN 24
|5 | FRELSLETFR2R 100.0" 0.0/ 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0
N A :
B RREANEF RSB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0 0 0 0 0 0 0 0 0 0 0
N 5
SARANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0 0 0 0 0 0 0 0 0 0 0
N AY :
BARIEATNE FIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0
N A :
SRIEANNEF RO o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 17 0 2 0 0 0 0 0 0 1
REFIRA 100.0" 89.5 00| 105 0.0 0.0 0.0 0.0 0.0 0.0 5.3
9 7 1 1 1 0 0 0 0 0 0
By B1
RAFIR 100.0" 778 111 111] 111 0.0 0.0 0.0 0.0 0.0 0.0
48 41 3 5 0 0 3 0 0 0 0
J B2
RAFIR 100.0" 85.4 6.3 104 0.0 0.0 6.3 0.0 0.0 0.0 0.0
FEHELSVERBEAFIE 2 0 0 1 1 0 0 0 0 0 0
& 100.0 0.0 00| 500/ 500 0.0 0.0 0.0 0.0 0.0 0.0
FBHENVERBERULFIR2 31 8 8 8 4 1 9 0 0 1 2
& 100.0|| 258 258 258/ 129 32| 290 0.0 0.0 3.2 6.5
FEHELAVE R EELTFIRS 42 7 17 9 6 2 7 1 1 2 4
#k 1000 16.7| 405 21.4| 143 48| 16.7 24 2.4 438 95
61 50 7 1 2 0 2 0 0 2 0
d VALY
BTVl 100.0" 820/ 115 1.6 3.3 0.0 3.3 0.0 0.0 3.3 0.0
wE 4 2 0 0 0 0 1 0 0 0 1
100.0] 50.0 0.0 0.0 0.0 00| 250 0.0 0.0 00| 250
f133@ . _ 68 57 4 8 2 1 3 0 0 1 1
e BRECZHShT 100.0| 83.8 59| 11.8 2.9 15 4.4 0.0 0.0 1.5 1.5
- - 3 0 1 0 1 0 1 0 0 0 0
= s Bk = LEs W -
BitRE BRME LM T 100.0 00| 333 00| 333 00| 333 0.0 0.0 0.0 0.0
FARIVAH—IEIRRE LTS 22 7 6 4 4 2 4 1 0 1 2
ni= 1000 318| 273| 182| 182 91| 182 45 0.0 45 9.1
IRARRERA (RIS D) - BFER 112 62 22 15 8 1 13 0 1 4 3
RIS LB RSN 1000l 554 | 196| 13.4 7.1 09| 116 0.0 0.9 3.6 2.7
- 0 0 0 0 0 0 0 0 0 0 0
aEil) FELES M -
SFERBRIELSHTN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BREALN(LD) -[REHEE 5 2 1 1 0 0 1 0 0 0 0
SELE SN 1000 40.0| 200| 200 0.0 00| 200 0.0 0.0 0.0 0.0
AERMLEEREL L 53 27 15 8 5 1 3 1 0 1 3
(ADHD) &glEn = 1000 509 | 283| 15.1 9.4 1.9 5.7 1.9 0.0 1.9 5.7
ZTOMDFEEZEENLDZEE 13 10 0 1 0 0 1 0 0 0 1
ZFf= 1000 76.9 0.0 77 0.0 0.0 7.7 0.0 0.0 0.0 7.7
. . 1 0 1 0 0 0 0 0 0 0 0
ZEENLTILEIST-
RERMNNTREGN T, 100.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wE 3 1 0 0 0 0 1 0 0 0 1
e 1000 33.3 0.0 0.0 0.0 00| 333 0.0 0.0 00| 333

96 *—2

o)

Z2(01BET B0 RES (C: FF)



WEE(CIBHE T A AXES (C: &F)

17 HREMEDLNTVDERLEF RDILENTT A,

n ® )] B N N H = =) X o
B # E . . Al % % ! =2 ) @
i E < & & X % X =2 fth %
& B & i ® i %
% % B & %
~ ~ % %
& L2
w® Al
=2 *
& 53
- &
&
& ik 131 19 17 11 29 51 10 1 0 1 2 4 0
1000ff 145/ 130 84| 221 389 7.6 0.8 0.0 0.8 15 3.1 0.0
5 e 0 0 0 0 0 0 0 0 0 0 0 0 0
N \ ;
Baqr}ﬁéb\?% SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FiIRD 0 0 0 0 0 0 0 0 0 0 0 0 0
3 Z AN 5
|- | FERALEFR2E 0.0" 00/ 00/ 00 00 00 00 00 00 00 00 00 00
e 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
SARREATNEF RSB 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
i 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SARANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
¢ 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
SRRANEFIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
SARIEANNE F RO 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 17 2 0 1 0 4 8 0 0 0 0 2 0
RATFIRA 100.0" 11.8 0.0 5.9 00| 235 471 0.0 0.0 0.0 00| 118 0.0
e 7 1 1 0 1 5 0 0 0 0 0 1 0
REFIRB 100.0" 143| 143 00/ 143] 714 0.0 0.0 0.0 0.0 00| 143 0.0
] 41 9 4 3 6 19 1 0 0 0 0 1 0
RAFIRB2 100.0" 22.0 9.8 73] 146 463 2.4 0.0 0.0 0.0 0.0 2.4 0.0
FHELLEREELFIR 0 0 0 0 0 0 0 0 0 0 0 0 0
& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEHELSVERBEALFIR2 8 1 1 0 1 3 1 0 0 0 1 0 0
Y 1000 125 125 00| 125 375/ 125 0.0 0.0 00/ 125 0.0 0.0
EHELSVERBELFIRS 7 0 0 1 0 5 0 0 0 1 0 0 0
5y 100.0 0.0 00 143 00| 714 0.0 0.0 00 143 0.0 0.0 0.0
50 6 10 6 21 15 1 0 0 0 1 0 0
= VALY
BTVl 100.0" 120/ 200/ 120/ 420/ 300 2.0 0.0 0.0 0.0 2.0 0.0 0.0
mE 2 0 1 0 0 0 0 1 0 0 0 0 0
100.0 0.0/ 500 0.0 0.0 0.0 0.0/ 500 0.0 0.0 0.0 0.0 0.0

97 R—



18 IFEVOLETHELTIELLWEIE RDIBEENTIH,

n & 3 # [ & | OFE | & E3 B | BF z +F 3
B H B A = B RA | A & — [ ) Iz =]
18 (A » . » I : A A A 3] . D5 | ik ZAN %
B Iz i % £ B D | va & | ®R L
) I = A 1€ . H | =" 7 ¥ | EF
I C *» 0] E % = » Iz .
= = 5 AN 1% iz Al D 1% o\ 15
= 0} ) & i1 Iz | K il yaN B3
1) & 7 73 B ® | & 2 %) #®
# 7 7 E ) El z fi& =l &
h 1 ) b 5| I i 2
Ay I s * B LU D —~
£ it N 8 = 8% 9
5 LA I | # i 4
15 E [ £ & J
] ) 'l ~ be
by AN )] 3
15 & B .
® D | K ¥
fi i B
fi# 7
2 1k 131 77 95 46 9 44 49 74 17 4 16 34 10 8 2
1000 588 725/ 35.1 6.9/ 336 374/ 565/ 130 31| 122 260 7.6 6.1 15
5 N 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
e 1
&;ripaéh\% BARRANEF RS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2] . 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*5 . == Ea A 24
|5 | FRELSLETFR2R 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N A >
SRRANEFIRIMR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A 4|
BARREANEFiRAR 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
/A :
S ARREANEF RS o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N >
SARANE FIRCEK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 17 5 9 4 0 2 4 7 2 0 4 5 4 1 0
RAFIRA 100.0" 294| 529/ 235 00| 11.8] 235/ 412 118 00| 235/ 294| 235 5.9 0.0
7 4 6 5 0 0 2 6 1 0 0 0 1 0 0
BE B1
B TR 100.0" 571 857 714 0.0 00| 286 857 143 0.0 0.0 00| 143 0.0 0.0
e 41 27 33 20 5 13 18 24 8 2 6 15 4 3 0
REFIRB2 100.0" 659/ 805| 488 122| 31.7| 439| 585 195 49| 146 36.6 9.8 7.3 0.0
FBHENVERERILTFIR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FBHELSVERBEALFIR2 8 7 7 5 1 5 5 8 3 2 1 3 0 0 0
#k 1000 875/ 875 625/ 125 625/ 625 1000/ 375/ 250/ 125/ 375 0.0 0.0 0.0
BHENSVEREBULTFIRS 7 5 6 3 0 4 2 5 1 0 1 0 0 0 0
& 1000l 71.4| 857 429 00| 57.1| 286 71.4| 143 00| 143 0.0 0.0 0.0 0.0
50 29 34 8 2 19 19 24 2 0 4 11 1 4 1
= ARLY
FoTval 100.0" 580 680/ 16.0 40| 380| 380/ 480 4.0 0.0 80/ 220 2.0 8.0 2.0
wE 2 1 1 1 1 1 0 1 0 0 0 0 0 0 1
e 100.0| 50.0/ 50.0| 500/ 500/ 50.0 00| 50.0 0.0 0.0 0.0 0.0 0.0 00/ 500
133 . . 57 31 43 20 4 19 22 32 11 1 7 16 6 5 0
EALiE Sl LIC e 1000 544 | 754| 351 70| 333| 386| 561 | 19.3 18| 123| 281| 105 8.8 0.0
s = Lo _ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R BRME LM T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FARIA—EIERB LSS 7 2 3 2 0 2 2 6 1 1 1 3 0 1 0
hi= 1000 286 | 429| 286 00| 286 | 286| 857| 143| 143| 143| 429 00| 143 0.0
A RERA (BiREEE) - BFMER 62 39 43 29 4 21 22 35 7 4 9 14 5 2 1
RIS LEN O EBEENL 1000 629 | 69.4| 468 65| 339| 355| 565| 11.3 65| 145 | 226 8.1 3.2 1.6
- 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
kil FEESSW —
SRR B LBHS T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEEE 2 2 2 0 0 2 0 0 0 0 0 0 0 0 0
SEELEZ SN 100.0|| 100.0 | 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EERMSEEREA L 27 18 21 9 2 11 10 18 3 2 3 6 1 0 0
(ADHD) &Ztrant- 1000 66.7| 77.8| 33.3 74| 407| 370| 66.7| 11.1 74| 111 222 3.7 0.0 0.0
ZTOMDFEEENVDZEE 10 6 8 3 0 4 5 4 0 0 1 2 1 1 0
211 1000 60.0| 800| 300 00| 400| 500| 40.0 0.0 00| 100| 200| 100]| 10.0 0.0
. . 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EEMAWNTIEE M1
RERDN TG T, 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
mE 1 0 1 0 0 0 0 1 0 0 1 0 0 0 0
100.0 0.0 | 100.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0

98 K —

o)

Z2(01BET B0 RES (C: FF)



19 RICWAIENZNEAIIRDIEENTI A,

19 9 aVEZFHEMm~DHHEIZL TS EE

n ik &4 4 Wwa | X H = E] a z [ = n 1 2 3 4 5 6 7 =
& H H B OB ) ¥ = v 1)) = ] =] =] = =] =] = =] E
® L % Bl 0 I+ 3] < e it T % %
i = T 1 i3 %) A i = LY
M i3 ) | & i 173 %
& Iz fh Bl oA Z 3E) z i
< A & £ | B %) i3 it
P ] & T Y n il ~
Ly ) ) n| % AN % )
- =] B X | W L & VAN
& m bH 2 o) H
K L % L (=8
1z Z 1= T L
5 = ) (A T
% =7 & % Ly
yaN % %)
) A
%) AN
Ly
.
& ik 21 9 6 9 2 1 5 10 9 8 4 0 0 8 1 2 3 1 0 0 0 1
100.0ff 429 286 429 95 48| 238| 476/ 429| 381 190 0.0 ool 1000 125 250/ 375 125 0.0 0.0 00| 125
5 e o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E%g% BAREANEF RS 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.ol 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
|5 | FRELSVETFR2R 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.ol 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRRANEFIRIMB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.oI o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BARRANEF R4 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.ol o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
S ARREANEFIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.oI o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SARANE FIRCHK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.oI o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B FIEA 0" 0 0 0 0 0 0 0 0 0 0 0 oI 0" 0 0 0 0 0 0 0 0
- 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RAFIRB 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o.ol 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 3 1 0 1 0 0 1 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0
REFIRB2 100.0" 33.3 00 333 0.0 00| 333| 333 333 00/ 333 0.0 o.oI 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BHENLE REELFIR 0" 0 0 0 0 0 0 0 0 0 0 0 ol 0" 0 0 0 0 0 0 0 0
5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEAELS S REIELFIR2 9" 5 2 3 2 0 2 4 4 1 1 0 ol 1" 1 0 0 0 0 0 0 0
% 1000 556/ 222 333 222 00| 222| 444 444 111 111 0.0 0.0] 100.0|f 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EHEA NS REELFIRS 7" 3 3 5 0 1 3 4 3 5 2 0 0| 5" 0 2 1 1 0 0 0 1
w 1000 429 429 714 00| 143| 429 57.1| 429/ 714 286 0.0 0.0l 1000 00| 400/ 200/ 200 0.0 0.0 00| 200
LML 2" 1 1 1 0 0 0 1 1 1 0 0 oI 1" 0 0 1 0 0 0 0 0
100.0f 500/ 500 500 0.0 0.0 00| 500/ 500/ 500 0.0 0.0 0.0l 1000 0.0 0.0/ 100.0 0.0 0.0 0.0 0.0 0.0
mE 1 0 0 0 0 0 0 1 0 1 0 0 0 1 0 0 1 0 0 0 0 0
T 100.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0/ 100.0 0.0 0.0 0.0 100.0 0.0 0.0/ 100.0 0.0 0.0 0.0 0.0 0.0
R333 e L - 3 1 2 2 0 0 1 2 2 1 1 0 0 1 0 0 1 0 0 0 0 0
L Sl R 1000 333 | 66.7| 66.7 0.0 00| 333| 667| 66.7| 333 333 0.0 0.0] 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0
e L _ 1 0 0 1 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B BRME LM T 100.0 0.0 0.0 | 100.0 | 100.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FARIWH—ERE LS 4 1 2 2 0 0 1 3 2 2 1 0 0 2 0 0 2 0 0 0 0 0
nit- 1000 250| 500/| 50.0 0.0 00| 250| 750| 500| 500, 250 0.0 0.0 100.0 0.0 0.0 | 1000 0.0 0.0 0.0 0.0 0.0
R RERAL (BRAEST) - BBER 13 6 4 6 2 1 2 6 5 6 3 0 0 6 1 2 1 1 0 0 0 1
RIS LENS DI 1000 462 | 308| 462 | 154 77| 154| 462 | 385| 462| 23.1 0.0 00| 1000 16.7| 333| 167 | 167 0.0 0.0 00| 167
) £ B LS _ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R B LBHS T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEEE 1 1 0 1 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IEEZMSNT 100.0 || 100.0 0.0 | 100.0 0.0 0.0 | 100.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EERIMLENEREA L 3 1 1 1 0 0 1 2 2 3 1 0 0 3 1 0 1 1 0 0 0 0
(ADHD) &2trant= 1000 333 | 333| 333 0.0 00| 333| 66.7| 66.7| 1000 33.3 0.0 00] 1000( 333 00| 333| 333 0.0 0.0 0.0 0.0
ZTOMDFEERENVDZEE 1 1 1 1 0 0 0 0 1 1 1 0 0 1 1 0 0 0 0 0 0 0
ZI+1= 100.0|| 100.0 | 100.0 | 100.0 0.0 0.0 0.0 0.0 | 100.0 | 100.0 | 100.0 0.0 0.0] 100.0( 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S« e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RERAN TR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
mE 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100.0 || 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

99 K —

o)

Z2(01BET B0 RES (C: FF)



120 EDRFILGIELRYBALHNIEVVEBNET A,

n P g A E] BN & #® z 4 =
H L E® | H a»s 52 p=3 ) Iz [
53 18 | © |&WW| T By 1t LAY &
E F B & |EFEA 3 LAY Ly
paN Iz | i | PHE AN 53
(A LAY 5 L SHIE | W =
= %) h| T Gl &
H A % ] * =3
fig D E| m N »
L g | T Y =
< FI:IE] ?5 g’ Z E@
< A % L
h B &
% | 5 =
A & Fir Iz
) i F
[l T A
* = T
% =
S %
N el
S B
2 % 21 2 6 8 13 6 5 11 2 2 0
100.0 95 286 381/ 619 286| 238 524 9.5 95 0.0
R333@ . _ 3 0 3 1 2 1 2 2 1 0 0
EALiE Sl R 100.0 00| 1000 | 333| 66.7| 333| 66.7| 66.7| 333 0.0 0.0
5 LA _ 1 0 1 1 0 1 0 1 0 0 0
R BRME LM T 100.0 0.0 | 100.0 | 100.0 0.0 | 100.0 0.0 | 100.0 0.0 0.0 0.0
FARIA—EIER LSS 4 0 2 2 2 1 2 4 1 0 0
hi= 100.0 00| 500| 500| 500| 250| 500/ 1000| 250 0.0 0.0
GERMREEAD (BEEET) - BHER 13 2 3 5 7 4 2 6 1 2 0
RIS LEMS DI 1000 154 | 231 | 385| 538 | 308| 154| 462 77| 154 0.0
300 .- _ 0 0 0 0 0 0 0 0 0 0 0
B LB ST 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEEE 1 0 0 1 1 1 1 1 0 0 0
SEELEZ SN 100.0 0.0 0.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 0.0 0.0 0.0
EERIMLENEREA L 3 0 0 1 1 0 0 2 1 0 0
(ADHD) &Ztrant- 100.0 0.0 00| 333| 333 0.0 00| 66.7| 333 0.0 0.0
ZTOMDFEEENVDZEE 1 0 0 0 0 0 0 0 1 0 0
Z(11= 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0
e e S N o |t _ 0 0 0 0 0 0 0 0 0 0 0
RERAN TR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
mE 1 0 0 0 1 0 0 0 0 0 0
100.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0

100 =—>

o)

Z2(01BET B0 RES (C: FF)



21 SH2ELBEOHE 0T DAL ABREEDRITICEELT. B>TWAIEEHYETH,

n TR v |WkE| &4 [y B | B2 B | R & B ES | AE | A (55 5B z 3] =3
Mg | R | XA | AE 7 N FER N | kR F | FH | ALY | ® N | ik ) e} ]
L% 9 TWL | &Iz | F (A Lo | W ¥ N % Lo | ALy | % (A A T %
M| O B | Exn | v Iz | =4 =) B | & ¥ -8 | TE| © Iz A L
N | & o8 EE | IS & N il n | & B | ~ | & | 7K & o %)
== | H =t | g 5 C > Iz = | T | BE | LI T Y =% =
& AN Kz | 28| 7 1= 4 B & 1) ) i | M L . - = &
» E S| THM | 3 T v 7 | N = |t | 29 | & & E S %
Y| T It | &~ | & L Bl 5 N E H | & | =3 E=3 1% ~ LAY
z a Bf- | 58| ) x| U (A 1 & | A % % = L
21 = |LE|LFE| % I N I 2 | M R | 2% I T 1 #
» i | = | = B i . E | &+ % = & E ) - %
& = v ik | B =B E| X 2| It 7 | -0 z [z P =
H v P F| 0 i n %H B | % Z m} 13 H o] TAN
. I 5 ER —~ Wl o ¥ | & 1= + W R E
F| v ) A i % 1R % HA 9 D | -
b 3 o E| 7 PN | g | IZ 4 O % )
AN Y #h - L Fic) Iz | A i i p1% A [ = i
. = I+ PN - VAN I | = v e z * o) LAY E2
F & *» | ~ E C 1 I 1- % Br| 9 E x
& %) * % = - = | E 4] 5 % - =
H ) # 1= 5 ) 3 = Rz fE n| & z %)
& Iz M | h % D | H LAY ) = & i3 )
. = | N LAy 7 T Iz g 1% N M il [
B OF m} | M, Iz LAY LAY D iR ES xR paN =
H=] L + E 2 =5 yaN 2 Fl % 1= I+ n 5
1A 1= bird % 1= 5 2 1= A = 1% T mn L
E 17 F - L - & % + Ly =) Vi
il ED) B 1= - = )] i - - ~
& & B & Z Iz LAY =
2 % 212 33 46 10 4 8 4 7 25 23 14 16 7 9 2 16 6 13 79 11
1000 156 21.7 4.7 1.9 3.8 1.9 33/ 11.8/ 108 6.6 75 3.3 4.2 0.9 75 2.8 6.1/ 373 5.2
fH332 L _ 68 20 14 6 2 4 3 3 16 12 6 8 3 6 1 12 4 4 20 0
g Sl N 1000 294 | 206 8.8 2.9 5.9 4.4 44| 235| 176 88| 11.8 4.4 8.8 15| 176 5.9 59| 294 0.0
o .- _ 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 2 0
BRI LM T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 66.7 0.0
FARIH—ERE LIS 22 2 6 1 0 3 1 1 3 2 6 2 2 1 0 0 1 3 9 2
hit= 100.0 91| 273 45 00| 136 45 45| 136 91| 273 9.1 9.1 45 0.0 0.0 45| 136 409 9.1
AN REEAL (BAEST) - BHIER 112 15 28 3 2 3 2 5 12 12 5 7 5 2 1 5 5 10 40 5
NOLTLEREBEE T 1000 134 | 250 2.7 1.8 2.7 1.8 45| 107| 107 45 6.3 45 1.8 0.9 45 45 89| 357 45
el . _ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R B LBHSh T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEEE 5 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 3 1
ELB TSNS 100.0 00| 200 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 200 00| 600| 200
AERMZENEREA 53 4 17 0 0 1 2 1 6 1 5 4 2 2 0 0 1 3 22 3
(ADHD) &322 1SN T 100.0 75| 321 0.0 0.0 1.9 3.8 19| 113 1.9 9.4 15 3.8 3.8 0.0 0.0 1.9 57| 415 5.7
ZTOMDFEEENVDZEE 13 1 1 0 0 0 0 0 0 0 0 1 0 1 0 0 0 1 8 1
ZF1= 100.0 7.7 77 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.7 0.0 7.7 0.0 0.0 0.0 77| 615 7.7
o eS| o1t _ 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
RERANTIREA T 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 | 100.0 0.0
wE 3 0 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 1 0
e 100.0 00| 333 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 0.0 0.0 0.0 0.0 0.0 0.0 00| 333 0.0

101 ~—

o)

Z2(01BET B0 RES (C: FF)



WEE(CIBHE T A AXES (C: &F)

122 HL-DFHEIOFT VA RABRREDBEEF - FREEME (LS5 E £ FEITIRITRERIEERITHLEATEET M.

n TFX | %X 53 b3 * H 7
E | B i i # VAN @]
ik = = = % D=t %
-2 | =2 Z = = LAY
IF I+ IF IF I+ Ly
%) %) %) %) %
el sl sl = W
& & & & =
mn il mn mn mn
=3 = = = L
%) % %) LAY
~] ~ — L
fE | = z
N3 )
[ Y N fth
& 8
1 1%
+ 0]
[ Iz
E -
2
212 5 138 1 17 10 34 7
= # 100.0 24| 65.1 0.5 8.0 47| 16.0 3.3
R333@ . _ 68 0 50 0 7 0 10 1
EALiE Sl R 100.0 00| 735 00| 103 00| 147 15
5 LA _ 3 0 0 0 1 0 1 1
R BRME LM T 1000]| 00| 00| 00| 333| 00| 333| 333
FARIA—EIER LSS 22 2 7 0 1 3 7 2
hi= 100.0 91| 31.8 0.0 45| 136| 318 9.1
[RRMRERA GERESD) - BIER 112 3 76 1 9 5 15 3
RIS LEMS DI 100.0 27| 679 0.9 8.0 45| 134 2.7
300 LA _ 0 0 0 0 0 0 0 0
B LB ST 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEEE 5 1 2 0 1 0 1 0
SEELEZ SN 100.0|| 20.0| 400 00| 200 00| 200 0.0
EERIMLENEREA L 53 4 36 0 3 1 7 2
(ADHD) L2 En = 100.0 75| 679 0.0 5.7 19| 132 3.8
ZTOMDFEEENVDZEE 13 0 9 0 0 2 1 1
Z(11= 100.0 00| 69.2 0.0 00| 154 7.7 7.7
e e S N o |t _ 1 0 0 0 0 1 0 0
RERAN TR 100.0 0.0 0.0 0.0 0.0 | 100.0 0.0 0.0
mE 3 0 2 0 0 0 1 0
100.0 00| 66.7 0.0 0.0 00| 333 0.0

102 "=



28 Hiaf=(F, —BEE BEX EEHBHLLETHV-BBRADHYET L, (HFBREEARTORREIREET)

n @ & @ & =
Ly Ly Ly = B
T 1= 1= 1= %
Ly - z Ly
% & £ M
N piNl &
) 7 (+
% Ly A
Ly
82 33 29 6 7 7
= # 100.0ff 402| 354 7.3 8.5 8.5
5 R 0 0 0 0 0 0
EALNE SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0
FiRDIE R 1 1 0 0 0 0
|5 | FERALEFR2E 100.0" 1000, 00/ 00 00/ 00
e 0 0 0 0 0 0
A :
S ARREATNEF RSB 0.0" 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0
A :
SARANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0
A :
BARIEATNE FIRSH 0.0" 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0
A :
SRIEANNEF RO o.o" 0.0 0.0 0.0 0.0 0.0
e 2 0 0 2 0 0
REFIRA 100.0" 0.0 0.0/ 100.0 0.0 0.0
s 2 1 0 0 1 0
WA FIRE1 100.0" 500 00/ 00 500 00
] 7 4 0 0 1 2
RAFIRB2 100.0" 57.1 0.0 00| 143| 286
FBHENVEREEILTFIR 2 0 0 2 0 0
w 100.0 0.0 0.0/ 100.0 0.0 0.0
FBHENVERBERIULFIR2 23 7 12 1 2 1
& 100.0|| 304| 522 43 8.7 43
FBHEAVERBELTFIRS 35 14 13 2 2 4
#h 100.0| 40.0| 37.1 5.7 57 114
12 7 3 0 1 1
= ALY
FoTlal 100.0" 583 250 00 83 83
mE 2 0 1 0 1 0
100.0 0.0/ 500 00 500 0.0
333 e LA _ 11 4 3 3 1 0
i Sl e 1000 364 | 273| 273 9.1 0.0
- . 3 1 0 1 1 0
= AT = LSom —
BitRE BRME LM T 100.0]| 33.3 00| 333| 333 0.0
FARIH—EIRE LSS 15 5 7 1 1 1
ht= 1000 333 | 46.7 6.7 6.7 6.7
EREFERAL (BREST) - BFER 50 21 21 3 2 3
RIS LER RSN 1000 420 420 6.0 4.0 6.0
. 0 0 0 0 0 0
=7 = LSS _
SFERBRIELSHTN 0ol oo| o0o0| 00| 00| o0
?%‘_ﬂﬁbfb\(LD) REHEE 3 1 1 0 1 0
SEEE SN 100.0|| 333 | 333 00| 333 0.0
EERMLEEREL L 28 13 10 1 2 2
(ADHD) &E2lEn - 1000 46.4 | 357 3.6 7.1 7.1
ZTOHDFEEELSVDEZEE 5 0 1 0 3 1
11 100.0 00| 200 00| 600| 200
. . 0 0 0 0 0 0
ZENLTILEIST-
RERMNN TR T, 0ol oo0| 00| 00| 00| o0
mE 2 0 1 0 0 1
100.0 00| 500 0.0 00| 500

103 ==

o)

Z2(01BET B0 RES (C: FF)



129 BT MF T ADITHELEBICE, FFBEHRTA-OICBBEEESICEFIRDILEENTI A,

n & & i = B = ERICF | B B ARG EEES P53 % & =3 =3
HiE & 54 = b2 v NDER | L& 5 )] = | = i3 A ] = -t [=]
—~ 1) Iz a )] ) H A El )] L i3 A il » B fi - VA %
fiE x W = 11 fE =40 % i he B Er 55| % Ly Ly
1R N = r paN il LVEB & 5% R LAY ~ T B 1 &
- ) 1 I Ly Ly . # . Ly £ H| o S 5\
. =7 b3l 2 » ° B —~ % 5 T < A R H
& E =Y 3 Led Led B Hw & 5 h 5| o 7 o
v © Nz i3 i3 A # yaN & ) bl b E Ly
) 57 BE % x E . & )] )] %= fi# T
[ BE b2l ] i} %= )] Ly H * ) ae =
) 0] 0] fig fi# bl 7% ae = = 1) Iits A
x5 & Bl L L ) = Ly % - | 8 5
%7 = £ . (i) aca i Ly . = # mn »
E . = B % . —~ B I+ & b i3
=i 52 L = ] N i . B % fal
#% * T % = Y ) # Tl Z m
) & 3 1z = 7 B B 52 & 7
A < D H i S it T 2 S
= 0 z e A 1) =3 ~ El
% % 1= E | % & %
- B i3 - 1t ® % -
& 5 7@ Iz | ~ il & &
& . %) il ]
) T e » .
H = T % ~
E N Ly Z U
Ly = % &
& 82 58 51 40 53 49 55 42 51 10 34 35 20 37 41 8 0 0 6
1000/ 70.7| 622 488 646| 598 671 512| 622| 122 415 427| 244 451 500 9.8 0.0 0.0 7.3
5 e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E%BE BAREANEF RS 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 1 1 1 1 1 1 1 1 1 0 1 0 0 0 0 0 0 0 0
|5 | FRELSVETFR2R 100.0" 1000, 100.0| 100.0| 100.0| 100.0/ 100.0| 100.0| 100.0 0.0/ 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRRANEFIRIMB o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BARREANEF R4 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
S ARREANEF RS 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SAIRANE FIRCHK o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B FIEA 2" 0 1 0 1 1 2 1 1 1 1 2 2 2 1 0 0 0 0
? 100.0 0.0/ 500 0.0/ 500/ 500/ 100.0| 500/ 500 500/ 500/ 100.0| 100.0| 1000/ 50.0 0.0 0.0 0.0 0.0
‘ 2 1 1 1 1 0 2 1 1 0 1 2 1 1 1 0 0 0 0
RATFIRB 100.0" 500/ 500/ 500 500 0.0/ 1000/ 500/ 50.0 0.0/ 500/ 1000/ 500| 500/ 500 0.0 0.0 0.0 0.0
e 7 4 2 1 4 3 2 1 2 0 0 1 0 2 3 0 0 0 2
REFIRB2 100.0" 571| 286 143| 571 429 286 143| 286 0.0 00| 143 00| 286 429 0.0 0.0 00| 286
FBHENVERERILFIR 2 0 1 0 1 0 2 0 1 1 2 2 1 2 1 0 0 0 0
#H 100.0 0.0/ 500 0.0/ 500 0.0/ 100.0 0.0/ 500/ 500/ 1000/ 100.0] 50.0/ 1000/ 50.0 0.0 0.0 0.0 0.0
BraENERBEELTFIR2 23" 20 17 13 17 15 15 15 12 3 7 10 6 12 1 3 0 0 1
#w 1000/ 87.0/ 739| 565 739| 652 652 652/ 522/ 130 304 435/ 26.1| 522 478 130 0.0 0.0 43
FBHENVEREBBUFIRS 35 29 26 18 22 23 24 20 27 6 20 17 10 15 19 4 0 0 3
E35Y 1000/ 829/ 743 514/ 629 657 686/ 571 771| 171 57.1| 486 286 429 543 114 0.0 0.0 8.6
LML 12" 4 3 4 7 6 7 3 5 0 2 2 0 3 4 1 0 0 1
1000/ 33.3| 250/ 333 583 500 583| 250 417 00| 16.7| 167 00| 250/ 333 8.3 0.0 0.0 8.3
mE 2" 1 2 2 1 2 2 1 2 0 1 1 1 2 2 0 0 0 0
e 1000/] 50.0| 100.0| 100.0| 50.0| 100.0| 100.0| 50.0/ 100.0 0.0/ 500/ 500/ 500/ 100.0| 100.0 0.0 0.0 0.0 0.0
528 . 33 25 20 15 21 18 18 16 21 3 11 10 5 11 18 2 0 0 0
DR 1000/ 758 606 455 636 545 545 485 636 91| 333| 303| 152/ 333 545 6.1 0.0 0.0 0.0
E& R 29" 24 21 16 22 22 25 17 18 4 14 13 9 14 14 5 0 0 0
1000/ 82.8| 724 552/ 759/ 759| 862 586/ 621| 138 483| 448 310/ 483 483 172 0.0 0.0 0.0
BN e ALY 6" 2 3 3 4 3 5 3 5 2 4 6 3 6 3 0 0 0 0
1000/ 33.3| 500 500 667 500/ 833] 500/ 833 333 667/ 1000/ 500/ 100.0/ 50.0 0.0 0.0 0.0 0.0
. N 7 6 6 5 5 5 6 5 6 0 4 5 2 5 5 1 0 0 0
TS Am TG 100.0" 857 857 714| 714 714 857 714 857 00| 571 714| 286 714 714 143 0.0 0.0 0.0
s 7" 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 0 0 6
mEE 1000/ 14.3| 143| 143 143| 143| 143| 143| 143| 143 143| 143| 143 143 143 0.0 0.0 0.0/ 857

104 ~—3

o)

Z2(01BET B0 RES (C: FF)



(f =) R29 HIEf=P.FITDDITKHELERSC L, FFBEGTIOITBELRSIZEIEIRDIBENTIT H,
n & S 7k a B E] ERICHF | OB & X [ ] = 3 z & 22 =
£Rl & 553 = VX S | DB | 2| 15 ) 1 |l = | & A ) = Iz ]
- 1 Iz a ) N | BH® | 0 L L I 3 B B B th - AN %
I x DA = 121 E | =40 5| I *» B Etr | A % (A L
K L = v i AL & & El | —~T | H e &
- ) 1 I Ly Ly . # . Ly £ H| o S 5\
. %7 0 2 *» » 57 ~ | & 53 T < A ] H
K iE i 3 % %% BE w & 5 7 £ D AN LA
o » v % e LAY #H & 5 b E L
) # BE % % E . f ) ) % | fi# Tt
=] BE A i I = ) L H % ER RS =
B ) ) fig fig & Bl = = | IS LA
1 =z A L L paN B 7 L % - | B AN
=7 %= *t . i s i Ly . = w N )
E . B B %) . - B I+ & B i3
& o L B | N br- N Bl 3 il
% = < V) = 1 ) el LAY el paN
) & 3 Iz B’ 7 % B % & i
B < 5 5) | 2 fis < = =
= gl Z e LAY ) =3 ~ El
) % - g I % % %
- B i3 - 1t ® % -
& 5 i Iz - il & &
& . ) i i
) it 2 ) .
H = T 3 ~
= A (A Z L
L = %) &
2 1k 82 58 51 40 53 49 55 42 51 10 34 35 20 37 41 8 0 0 6
100.0] 70.7| 622| 488 646/ 598 67| 51.2| 622 122| 415 427| 244 451| 500 9.8 0.0 0.0 7.3
RH33Q . _ 11 4 5 5 8 6 8 6 8 1 5 6 4 5 6 1 0 0 0
g Sl LICRE 1000 364 | 455| 455| 727| 545| 727| 545| 727 91| 455| 545| 364 | 455| 545 9.1 0.0 0.0 0.0
= s e s _ 3 2 2 2 1 2 3 1 2 0 1 2 1 2 0 0 0 0 0
PR BFIE R BT 1000 66.7| 66.7| 66.7| 333| 66.7| 1000| 333| 66.7 00| 333| 66.7| 333| 66.7 0.0 0.0 0.0 0.0 0.0
FARIWH—ERE LSS 15 11 12 10 9 11 12 11 12 2 8 9 5 8 11 2 0 0 0
nt= 1000 733| 800| 66.7| 600| 733| 800| 733| 800| 133| 533| 600| 333| 533| 733| 133 0.0 0.0 0.0
AR AS L (B RS E) - BB R 50 40 34 26 35 30 36 27 32 8 22 23 11 25 22 5 0 0 2
RIS LEN N EBIENL 1000 800| 680| 520| 700| 600| 720| 540| 640  160| 440| 460| 220| 500| 440| 100 0.0 0.0 4.0
e . _ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R BRE LB IS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZFEEALND) - [RREEE 3 2 2 0 0 3 2 1 2 0 0 1 0 0 1 0 0 0 0
fEEBHSNT=- 1000 66.7| 66.7 0.0 00| 1000 | 66.7| 333| 66.7 0.0 00| 333 0.0 00| 333 0.0 0.0 0.0 0.0
EERINLENEREAL 28 20 19 15 19 20 21 17 21 4 14 12 7 14 20 4 0 0 1
(ADHD) &2 Hrsnt= 1000 714| 679| 536| 679| 714| 750| 607 | 750 | 143| 500| 429| 250| 500| 714 143 0.0 0.0 3.6
ZTOMDREENVDZEE 5 4 2 3 4 2 3 3 4 0 2 3 0 4 4 1 0 0 1
2t 1000 80.0| 400| 600| 800| 400| 600| 600| 800 00| 400| 600 00| 800| 800| 200 0.0 00| 200
o T St N o b 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RERAN TG T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wE 2 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 1
mEE 1000 || 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 500 0.0 0.0 0.0 0.0 00| 500

105 ==

o)

Z2(01BET B0 RES (C: FF)



130 HAE-DBEEDEFTENNMIE>THO TS EFRDSHEENTI N,

n B £ R 5 + | LB vE | =& A E3 [E5 53 I 5% | il = o & | 5| % [2] E
= b e H b2 BB non 1% & i3 A =] H T&E 173 p=3 L 2] AT (1)) 1z [=]
. . El L AN ® Wl ED| D ) & (A » B | R . Y (A A AR AN %
BE P % 3 RE HE YR a 5 » Iz F Iz FA B = Iz - n Iz L
; & Z 5 3 I 2| ALY | v H 5] *f = i L | B & 3 1T
. . & < ANl B E | =% ~ D) % El A B =4 bt 2 = Ly 3]
A B piNl A & < mn = m] h % )] 1 <% 3] T 7 —~ m
n 23 £} % h 17 = Z I = E3 % E S AN ) Ly z T T
AN AN 23 i3 ¥ L < 5| 1L F H i ECl B % 5 < =
E g Iz m . . LAY Z e Iz Y LAY LAY ®| & h AN LAY
)] 1)) A b5} & 2 2 & R A 1)) E E ) AN A 2 Ly
g E3 %) %) & B 1= N k ) A paN ) N (A 1- _
(1)) 2 1) Iz D) ES L 1 N 52 1) 3 N — T
£ z F . | R # Uy & 7w & : &
H Ly %= fth Y ) = 7 M 7 ) £ VAN
Y A A D s ®] ) 7 = ] c § <
) < ) [E D | H 2] 1) I+ [ L " #
- El %) paN a yaN i | ) it yaN El 2
& n (A = T AN 1z n A 2 < =
% m 1| & 5 5 pa E Ly Iz -
* - | i L e Ly n H = .
4 r < < b3 ic) g R
El [ 1 Ly A v h 5
) ) o T Ly % n
Z 3 (A o) T
& ik 212 44 31 20 37 46 28 16| 148 114 85 38 56 2 6 1 26 31 15 47 44 13 11 15
1000f[ 208 146 94| 175 21.7| 132 75/ 69.8| 538 401| 179| 264 0.9 2.8 05 12.3] 146 7.1 222| 208 6.1 5.2 7.1
5 e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E%g% SREANEFRR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 1 0 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
|5 | FRELSLEFR2R 100.0" 0.0 0.0 0.0 0.0| 100.0 0.0 0.0 0.0/ 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B ARREANEF RSB 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRRANEFIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BARRANNEFIRSH 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B ARREANEF RO o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A5 FIEA 19" 12 3 7 3 5 0 1 14 13 5 0 7 0 3 1 6 1 1 1 5 1 1 2
=R 1000 632/ 158 368/ 158/ 263 0.0 53| 73.7| 684 263 0.0/ 368 00 158 53| 316 5.3 5.3 53| 263 5.3 53| 105
5 BB 9" 3 2 1 4 1 0 1 8 6 3 3 2 0 0 0 2 0 0 2 2 1 0 0
- 1000 33.3| 222/ 111 444] 111 00/ 11.1| 889 667 333 333 222 0.0 0.0 00/ 222 0.0 00| 222 222| 111 0.0 0.0
. 48" 16 5 3 6 6 2 1 35 27 18 5 14 0 2 0 6 4 2 10 6 1 2 3
1000 33.3| 104 6.3 125 125 4.2 21| 729/ 56.3| 375 104 29.2 0.0 42 00| 125 8.3 42| 208 125 2.1 42 6.3
BHENVEREEILTFIR 2 1 1 1 1 0 0 1 1 2 0 0 1 0 0 0 0 0 0 0 1 0 0 0
w 100.0f 500/ 500/ 500 500 0.0 0.0/ 500/ 500/ 100.0 0.0 0.0/ 500 0.0 0.0 0.0 0.0 0.0 0.0 00 500 0.0 0.0 0.0
FBHENVERBEALFIR2 31 4 7 0 7 11 11 2 20 18 19 9 9 0 1 0 5 7 3 8 8 3 1 1
5 1000 129 226 00| 226/ 355/ 355 6.5/ 645 58.1| 613 290/ 290 0.0 3.2 00| 16.1| 226 97| 258 258 9.7 3.2 3.2
FEHELAVE R BELTFIRS 42" 3 8 2 13 14 13 8 26 23 18 15 17 1 0 0 4 16 6 8 12 5 3 4
& 100.0 7.1 19.0 48/ 310/ 333| 310/ 190 61.9| 548/ 429 357 405 24 0.0 0.0 95 381 143| 190/ 286| 119 7.1 9.5
= N 61" 6 4 4 4 8 2 3 45 26 23 6 7 0 0 0 3 2 3 16 9 2 4 5
o5 TULVELY
100.0 9.8 6.6 6.6 6.6/ 13.1 33 49| 738 426 377 98/ 115 0.0 0.0 0.0 49 3.3 49| 262 148 3.3 6.6 8.2
s 4" 1 2 3 1 2 1 1 2 1 1 1 1 1 0 0 1 2 1 2 2 0 0 1
T 100.0ff 250/ 500/ 750/ 250/ 500/ 250/ 250 500 250 250 250/ 250/ 250 0.0 00| 250 500/ 250/ 500/ 500 0.0 00 250

106 =—2

o)

Z2(01BET B0 RES (C: FF)



31 QBEMICHKEERAVDABEMNHIERIN=DFFAIHESLTTH,

n 0 6 1 1 4 6 7 =3
2 8 0 5 5 E
s s S § s S % e
5 1 1 3 6 7 L
1 7 9 4 4 i
[ [ [ [ [ [
& ik 212 128 12 5 38 11 0 0 18
100.0[| 60.4 5.7 24| 179 5.2 0.0 0.0 85
R333@ o s _ 68 58 3 0 2 1 0 0 4
EALiE Sl R 100.0| 85.3 4.4 0.0 2.9 15 0.0 0.0 5.9
g L _ 3 1 0 0 2 0 0 0 0
PR BFIE R BT 1000 33.3 0.0 00| 66.7 0.0 0.0 0.0 0.0
FTARIAH—EFERH DS 22 8 4 2 7 0 0 0 1
nt= 1000 364 | 182 91| 318 0.0 0.0 0.0 45
LAMREZEELND (SHEST) - BFRAER 112 62 6 3 27 7 0 0 7
RINSLEN VN EBIENL 1000 554 5.4 27| 241 6.3 0.0 0.0 6.3
e . _ 0 0 0 0 0 0 0 0 0
SRR BRME SIS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEMNLVD) - [REHEFE 5 2 1 0 1 1 0 0 0
fEEE BTSN T- 1000 400, 200 00| 200| 200 0.0 0.0 0.0
EERINLENEREAL 53 24 7 3 13 3 0 0 3
(ADHD) &2 = 100.0| 453| 13.2 57| 245 5.7 0.0 0.0 5.7
ZTOMDREENVDZEE 13 7 2 0 3 0 0 0 1
11 1000 538 154 00| 231 0.0 0.0 0.0 7.7
e T 1\ o | _ 1 0 0 0 1 0 0 0 0
RERAN TR 100.0 0.0 0.0 0.0 | 100.0 0.0 0.0 0.0 0.0
wE 3 1 0 0 1 0 0 0 1
100.0ff 33.3 0.0 00 333 0.0 0.0 0.0/ 333
B32 KERTHEZEENNEZEE I—(TILLEESH) USN T BEENVDIEPHEICETAIETHHMLTLDECAIEEZTT A,
n X 2 | 2D Z el [ # # = ® E z &
*% & lg | C E m B B il 5 = ) =
i i E| 3 3 (A x T v B & fth %
. S "o 18 & 12 (5] | . M
® I& (AN ] B = = £ b4 Ly
& e 5| B + &% E3 Z i3 Iz
= 1 + v i T = = ]
1l NV 2 B E 3 > El
+ £ 2 I x i =3 %)
v 1 l # ® =
e T + =
[ [ v &
o "
3 | i
v
+
v
& ik 212 66| 116 5 1 6 12 53 10 49 66 13 24 14
1000 31.1] 547 2.4 05 2.8 57| 250 47/ 231 311 61/ 11.3 6.6
3 0 ~58 25" 11 14 2 0 1 1 9 1 5 10 1 6 1
FH 100.0ff 440/ 560 8.0 0.0 40 40| 36.0 40/ 200/ 400 40| 240 40
6 ~11%% 98" 35 47 1 0 3 3 37 2 35 54 7 5 4
100.0|| 357/ 480 1.0 0.0 3.1 31| 378 20| 357 551 7.1 5.1 4.1
12178 4" 0 3 0 0 1 0 0 1 0 0 0 0 1
100.0 0.0/ 750 0.0 00| 250 0.0 00/ 250 0.0 0.0 0.0 0.0/ 250
48" 14 30 2 0 0 4 4 3 6 1 2 7 5
18~3975%
1000 29.2| 625 42 0.0 0.0 8.3 8.3 6.3 125 2.1 42| 146| 104
34 5 21 0 1 1 3 3 3 2 0 3 6 2
40~645% 100.0" 147| 618 0.0 2.9 2.9 8.8 8.8 8.8 5.9 0.0 88| 176 5.9
0 0 0 0 0 0 0 0 0 0 0 0 0 0
65~74% 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TSR 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
W 3" 1 1 0 0 0 1 0 0 1 1 0 0 1
100.0ff 333 333 0.0 0.0 00| 333 0.0 00/ 333 333 0.0 00/ 333

107 R—3

o)

Z2(01BET B0 RES (C: FF)



34 BAEDERRRITRDIEENTY D,

n % 5 & T F £ Z & =
E-4 2 ] t & e ) 3 E
) v . v . % b L &
- + Ell 7 : 3 = <
)] | & D & AN Ly
= N )] = B E A
& v - 1)) B T L
e % & Iz 1) E
L =2 Iz P 1= HA
T IF pt::] 5z & 3]
Ly % 5T L 1 Iz
% = L T 7E B
b5) T Ly # e
ft Ly % 5] L
bt % 1= T
e & L
L 53 )
T L
Ly T
% Ly
%
& ik 212 69 76 26 1 44 52 9 37 5
100.0f 325 358 123 05/ 208 245 42/ 1715 2.4
R332 . - 68 16 28 17 0 10 24 3 10 0
pipg | BPECEESNL 100.0" 235 412 250 00, 147 353 44| 147 0.0
R _ 3 1 1 0 0 2 0 0 1 0
R BRME LM T 100.0" 333 333 0.0 00| 66.7 0.0 0.0/ 333 0.0
FARIH—EER LSS 22" 11 10 1 0 6 4 1 5 0
nt= 100.0[[ 500 455 45 00| 27.3] 182 45 227 0.0
RAE SR (BREEST) - BFER 112 40 42 7 1 33 24 3 21 0
RIRSLRAL BN 100.0" 357 315 63 09 295 214 27| 188/ 00
T _ 0 0 0 0 0 0 0 0 0 0
B LB ST 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SEREMAL(D) -REHEEE 5" 3 2 0 0 1 2 0 0 0
SEELEZ SN 100.0[| 60.0/ 400 0.0 0.0/ 200| 400 0.0 0.0 0.0
SEERINSEIEEHL 53" 23 19 4 0 13 11 1 12 1
(ADHD) &3 HrEh = 1000/ 434| 358 75 00| 245/ 208 19| 226 1.9
ZTOMDREENDZIE 13" 4 7 4 0 2 3 2 1 0
ZI+1= 100.0f 308 538 308 00| 154 231| 154 7.7 0.0
e T 1 o e 5 1 0 0 0 0 0 0 0 1 0
RERAN TR 100.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0
. 3" 3 1 0 0 0 1 0 0 0
100.0/] 100.0| 33.3 0.0 0.0 00| 333 0.0 0.0 0.0

108 =—2

o)

Z2(01BET B0 RES (C: FF)



fE135 FEEAWETEIETEo TSI EFHYFETH,

n 18 F 2 & Wh ] il 5 =] 8 53] =] g z tF 3
B = t7 M = & E- A C B Y = L ) Iz E
T pE L Iz Ay ) WY | E X ) & I it 7 %=
= paN T B i3 ® i 2| M 1 b = 7 L
% L < Gl Iz = H | ) fiz El 7
el 12 n £ E 1< & E yaN = paN 1= I
F £5] %) & i i L paN »H 1:9) VAN & Ls
H El E3 H z il L x| % ) (A ) Ay
Ly % = AN ANl h L A ¥ 5 E
A 15 % h & h Ly AN B T 1))
(A ] £5] h n h AN (A AN paN =
. h yaN % A % & A P VA )
P A B A Ly bl Ly A Ly L
o F | o | & Bl w o
(A L by =1 Hh & P 5
Iz z # 1 A Ay A
< < paN T Ly Ly A
Ly Ly X 1 Ly
< o= T
7 LY LAY
i a))
Ly R
2D
H
& t 212 70 46 44 51 18 50 6 37 44 34 63 24 7 23 32 11
1000]] 330/ 217 208 241 85| 236 28/ 175/ 208/ 160/ 297 113 33| 108 151 5.2
R33 0 ~5 & 25" 8 7 7 10 3 6 0 5 6 4 7 0 0 3 3 1
E#h 1000/ 32.0 280/ 280 400/ 120/ 240 00| 200 240/ 160/ 280 0.0 00/ 120/ 120 40
6 ~11%% 98" 26 16 22 19 11 31 0 20 15 14 22 10 3 10 13 4
1000/ 265| 16.3| 224 194| 112 316 00| 204 153| 143 224 102 3.1 102 133 4.1
12~ 178 4" 0 0 0 1 0 1 0 2 0 1 1 1 0 0 0 1
100.0 0.0 0.0 0.0/ 250 00| 250 0.0/ 500 00| 250/ 250/ 250 0.0 0.0 00| 250
18~30%% 48" 18 12 8 13 1 9 2 5 13 6 14 6 3 5 10 3
1000/ 375/ 250/ 16.7] 271 21| 188 42| 104 271| 125 292 125 6.3 104 208 6.3
40~64E5 34" 18 11 7 8 3 3 4 5 10 9 18 7 1 5 4 2
1000/ 52.9| 324 206/ 235 8.8 88| 118 147 294| 265 529/ 206 29/ 147 118 5.9
65~ 745 o" 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TSRILE o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
mE 3" 0 0 0 0 0 0 0 0 0 0 1 0 0 0 2 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 333 0.0 0.0 0.0/ 667 0.0
5133 e L . 68 14 14 12 13 8 17 1 8 9 10 22 6 4 7 13 3
L4 BRELBHS T 100.0" 206| 206 176/ 191 11.8| 250 15 118 132 147 324 8.8 59| 103 19.1 4.4
4 £ B L -~ 3 2 2 2 2 1 1 0 3 2 1 1 1 0 0 0 0
AL BFIE SR e T 100.0" 66.7| 66.7| 667 66.7] 333 333 0.0/ 1000/ 667 333 333| 333 0.0 0.0 0.0 0.0
T AR H—EIREE LB MRS 22" 10 7 8 10 2 5 2 5 6 4 8 5 2 3 2 0
nr- 1000 455/ 318/ 364 455 91| 227 91| 227| 273| 182| 364 227 91| 136 9.1 0.0
R SERAL (SREST) - BFER 1 12" 40 27 23 25 5 27 2 23 26 17 35 16 3 11 16 4
RIS LB EBHTEh T 1000 357 241 205 223 45| 2441 18| 205 232| 152| 313| 143 2.7 98| 143 3.6
— . _ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRR BRE LRSI o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SHEEMNL(LD) - [REHEEE 5" 1 2 0 1 0 0 0 0 1 1 4 1 0 2 0 0
FEEBWSNT- 1000 200 400 0.0/ 200 0.0 0.0 0.0 0.0/ 200/ 200/ 800/ 200 0.0/ 400 0.0 0.0
EERMZENEEAL 53" 19 14 12 19 3 9 3 8 11 10 22 5 2 6 7 2
(ADHD) & HiahT= 1000 358 264/ 226 358 57| 170 57| 15.1| 208/ 189 415 9.4 38/ 11.3] 132 3.8
DD FEEADZIE 13" 2 2 4 5 1 4 1 4 3 2 4 3 1 3 0 0
S+1= 1000 154| 154/ 308 385 77| 308 77| 308 231| 154/ 308 23.1 77| 231 0.0 0.0
e ] ot ot ] 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
RERAVN TG L 100.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0
mE 3" 1 1 0 0 0 1 0 0 0 1 1 0 0 0 0 1
e 1000/ 33.3| 333 0.0 0.0 00| 333 0.0 0.0 00| 333| 333 0.0 0.0 0.0 00| 333

109 =—2

s

Z2(01BET B0 RES (C: FF)



WEE(CIBE T B2 0 RESF (C: &F)
RI36 BET-OEENDOBIZECTTH,

n ¥ # g g 9 A tF m
E3 £ g g L AT Al (1)) [=]
T | T | & I wm | B | &
— ES 2 = 7 =% i
A i3 : N R —~ Z
k=3 & b #t [ = A
) [ = =2 Ls h R
L = . . (A I
il il ) Ls
= = . LAY
: : %5 | &
i | 0
=) =) o) =
1* =* £
=2 =2 & o
A A L A
E E 1= AT
- ® =% B
A i3 —
= &
D) []
L 1=
5 212 2 18 8 4 0 0 0 2] 178
1000 0.9 8.5 3.8 19 00/ 00/ 00 09/ 840
15 R 0 0 0 0 0 0 0 0 0 0
e g S \ 1l
K—?—q?]ﬁéb\% SRIEAE F kTR o.o" 00/ 00/ 00/ 00 00/ 00 00 00 00
FiIRD 1 0 0 0 0 0 0 0 0 1
; 0 A :
|5 | FERALEFR2E 100.0" 00, 00/ 00 00 00 00 00 00 1000
s 0 0 0 0 0 0 0 0 0 0
N :
SARREATNEF RSB 0.0" 00/ 00/ 00/ 00/ 00/ 00 00 00 00
R 0 0 0 0 0 0 0 0 0 0
A :
SARANE FIRAR o.o" 00/ 00/ 00/ 00 00/ 00 00 00 00
s 0 0 0 0 0 0 0 0 0 0
A :
SRRANEFIRSH 0.0" 00/ 00/ 00/ 00 00/ 00 00 00 00
s 0 0 0 0 0 0 0 0 0 0
N :
SARIEANNEF 1RO 0.0" 00/ 00/ 00/ 00/ 00/ 00 00 00 00
e 19 0 0 0 0 0 0 0 0 19
REFIRA 100.0" 00/ 00/ 00/ 00 00/ 00 00 00 1000
e 9 0 0 0 1 0 0 0 0 8
REFIRB 100.0" 00/ 00/ 00| 11.1 00/ 00/ 00 00 889
‘ 48 0 1 1 0 0 0 0 0 46
RAFIRB2 100.0" 0.0 2.1 2.1 00/ 00/ 00 00 00/ 958
FEHELSVERBEAFIR 2 0 0 0 0 0 0 0 2
#® 1000 o0/ 00/ 00/ 00/ 00/ 00/ 00 00/ 1000
BHENVERBEALFIRS 31 1 5 3 2 0 0 0 0 20
4 1000 32| 161 9.7 65 00/ 00/ 00/ 00/ 645
FBHEAVERBELTFIRS 42 0 9 4 1 0 0 0 1 27
& 1000 00 214 95 24/ 00/ 00/ 00 24| 643
61 0 4 1 0 0 0 0 1 55
= VALY
BTVl 100.0" 0.0 6.6 16 00/ 00/ 00/ 00 16/ 902
mE 4 1 0 0 0 0 0 0 0 3
1000ff 250, 00/ 00/ 00/ 00/ 00 00/ 00/ 750

110 ~—



139 Ht=(E. BB 2R ELBERIFECHSB/BTLETH,
n E3 x i [ 7 = IELIN: T A Z E =3
i3 A i % 5 & i | A | A L v ) - =]
» . (1)) AT AT 3 + - L Ly E 3 fto h %
5| m | A : - B ||| & : I B
)3 A . ® b 0] E HME > T 3
. i i i3 B3 A | | &K D P 1
153 b3 = g8 = M| ® * k Ea
5 ) 1 . £ o#% % .
) A + 2 B | BX | & i =
5] v L5y T | BE | = & 5
® A ) E | O 3 h
[ i )] > A E VA
) =] 1 2 L
i3 8 l
E .
18
%
=
E
& 1k 212 78 22 6 64 36 40 62 66 7 13 91 15 4 8
1000 36.8| 104 28/ 302 170| 189 292/ 31.1 3.3 6.1| 429 7.1 1.9 3.8
B35 e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TN \ ;
Baqr)ﬁéu% SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FiIRD 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0
3 Z AN 5
g-%g FRESVEFR2E 1000 00/ 00 00 00/ 00| 00/ 00 00 00 00| 1000 00 00 00
TN 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SARREATNEF RSB 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
SARANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N A >
SREANEFIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TN 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
BARIEANNE F RO 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 10 2 1 4 5 3 8 9 2 2 8 0 0 0
REFIRA 100.0" 526/ 105 53| 21.1| 26.3| 158 421| 474 105 105 42.1 0.0 0.0 0.0
e 9 6 1 0 2 3 2 4 2 1 0 1 0 0 0
RAFIRB 100.0" 66.7| 11.1 00| 222 333 222 444 222/ 111 00| 111 0.0 0.0 0.0
48 17 8 3 14 14 11 17 12 1 1 18 3 1 2
J B2
RAFIR 100.0" 354/ 16.7 6.3 292 292| 229| 354 250 2.1 21| 375 6.3 2.1 42
FEHELSVERBEALFIR 2 1 0 0 1 0 2 1 2 0 0 0 1 0 0
& 100.0f 50.0 0.0 00 500 0.0| 100.0| 500 100.0 0.0 0.0 0.0/ 500 0.0 0.0
BHENAVEREBEIULFIR2 31 11 4 1 15 1 8 9 10 2 1 13 3 2 0
& 100.0|| 355/ 129 32| 484 32| 258/ 290/ 323 6.5 32| 419 9.7 6.5 0.0
BHENVNERERAFIRI 42 13 1 1 14 1 5 7 14 1 7 22 5 1 1
5 1000 31.0 2.4 24| 333 24| 119] 167 333 24| 16.7| 524| 119 2.4 2.4
61 21 8 0 15 12 9 17 17 0 2 27 3 0 4
= VALY
BTVl 100.0" 344 131 00| 246/ 19.7| 148 279/ 279 0.0 33| 443 49 0.0 6.6
wE 4 1 0 0 2 0 2 1 2 0 0 1 0 0 1
100.0|| 25.0 0.0 0.0/ 500 00/ 500/ 250/ 500 0.0 00/ 250 0.0 00| 250
f5332 e LA _ 68 35 10 4 17 17 18 25 23 5 4 24 5 0 3
EASiE BRELBHS T 1000 51.5| 147 59/ 250/ 250/ 265/ 36.8 338 7.4 59/ 353 7.4 0.0 44
- . 3 1 1 0 1 0 2 0 1 0 0 0 1 1 0
= Ao , EX -
AR BFIE CR o T 100.0" 33.3] 333 00 333 00| 66.7 00| 333 0.0 0.0 00| 333| 333 0.0
FARIVA—IEIRRE LTS 22 7 3 1 13 1 6 9 9 1 3 11 2 0 1
nt= 1000 318 136 45 591 45| 27.3| 409 409 45 136/ 500 9.1 0.0 45
RAMREEA (BRIEE D) - BEMER 112 36 10 2 37 15 18 32 36 2 9 54 7 3 1
RIS LER BTSN T 100.0ff 32.1 8.9 18| 330/ 134| 16.1] 286 32.1 1.8 8.0/ 482 6.3 2.7 0.9
- 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=Eil] ) X _
R BRIECB IS 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2EREALV(LD) -[REEFRE 5 2 0 0 2 2 0 0 2 0 0 2 1 0 0
fEEBESNT 1000 400 0.0 00| 400/ 400 0.0 00| 400 0.0 0.0/ 400/ 200 0.0 0.0
EERINSENEREA L 53 20 5 1 19 5 4 17 13 1 2 25 4 1 2
(ADHD) E2Hrsnt= 100.0ff 37.7 9.4 19| 358 9.4 75| 321 245 1.9 38| 472 75 1.9 3.8
ZOMDFEEZEENLDZEE 13 5 1 0 3 4 3 3 5 0 1 7 0 1 1
11 100.0ff 385 7.7 00 231 308 231 231 385 0.0 77| 538 0.0 7.7 7.7
. . 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0
ZEENLNTILEI ST
RERMNNTREGN T, 100.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 100.0 0.0 0.0 0.0
WE 3 1 0 0 1 1 1 0 1 0 0 1 0 0 0
100.0]] 33.3 0.0 00/ 333 333 333 00| 333 0.0 00/ 333 0.0 0.0 0.0

111 ==

o)

Z2(01BET B0 RES (C: FF)



41 EAVWEERELEERNCREZLET DICF. ENL

SHCEARBELEBVET M,

n = = h T IS z =
® E S o L n N ) ]
< = T £ s S it &
)] —~ ) ac t
E5¢ = 4 2 a ~
B % ~ o g T

e > I rw

& ~ T a i

E A ()] m t

A E = t

E ) H | Te

~ £ Er

T & —

) -

o FIF

Z F a

Lc

- e

B b

% o

o

k
2 1k 212 172 81 46 87 92 20 15
1000 81.1| 382 217 410 434 9.4 7.1
3332 e L2 _ 68 59 22 17 31 28 8 4
pag  |DPHECBEEN: 100.0" 86.8] 324| 250/ 456/ 412 118 5.9
s e BE e LA _ 3 2 0 1 1 2 1 0
AR B CR N 100.0" 667 00 333 333 667 333 00
FTARIHA—EFR DS 22 16 9 5 10 10 5 1
hi= 100.0|| 72.7| 409| 22.7| 455| 455 227 45
LAMREZEELND (SHEST) - BFRAER 112 89 47 29 46 50 10 5
RIS LEN N EBIENL 1000 795 4200 259| 41.1| 446 8.9 45
i o L _ 0 0 0 0 0 0 0 0
R BRE LB IS 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEEMNLVLD) -[REHEFEE 5 4 2 1 1 2 1 0
JELEBISNT= 1000 80.0| 400/ 200 200/ 400/ 200 0.0
EERINLENEREAL 53 43 24 13 23 23 5 3
(ADHD) &2 = 1000 81.1| 453| 245 434 434 9.4 5.7
ZTOHMODFEEELSLDEZEE 13 12 5 1 9 7 0 1
2t 100.0| 92.3] 385 77| 692 538 0.0 7.7
S x| e 3 1 1 0 0 1 1 0 0
RERAN TG T 100.0" 100.0 0.0 0.0 100.0| 100.0 0.0 0.0
mE 3" 2 0 1 0 1 0 1
100.0|| 66.7 00/ 333 00/ 333 00| 333

112 ==

o)

Z2(01BET B0 RES (C: FF)



WEE(CIBHE T A AXES (C: &F)

43 Hhf(F, KERICHER, BCANLEDLSLERELTLET D,

n DK | BB | 5K =3 &
% . T¥ | hik ) Iz =]
BE | € | 2% | L %
AR | TE | LB <
T - VT 5 ﬁi l/\
=H 20 | ITh =
TH g LE f
Ay ® | Tz L
% - B WF
E B | BE
E=S & I+
& %) s
IAN & K
& i H
212 84 62 68 2 56 9
£ # 100.0ff 396/ 292 321 09| 264 42
f133@ s _ 68 29 15 29 1 16 3
s Sl e 1000|| 42.6|] 221| 426 15| 235 4.4
- . 3 2 1 2 0 1 0
= i bk = LSom —
AR RECBISh: 100.0" 66.7| 333 667 00| 333 00
FARIVAH—IEIRRE LTS 22 8 6 5 1 9 0
hi= 1000 36.4| 273 227 45/ 409 0.0
BRERERA (BRIEST) - BRER 112 44 36 33 1 29 3
RIS LB RSN T 1000 39.3] 321 295 09| 259 2.7
. 0 0 0 0 0 0 0
=7l e LEs _
FFEHBRIELSHTN o.o" 0.0 0.0 0.0 0.0 0.0 0.0
FEEALVD) -REEFE 5 2 2 1 0 1 0
fE &SN 100.0ff 400/ 400 200 00| 200 0.0
EERMLEEREA L 53 23 18 12 0 14 1
(ADHD) &2 Hrah = 1000 434 340 226 00| 264 1.9
ZTOMDOFEEELSLDEEE 13 7 5 4 0 4 0
1= 1000/ 53.8| 385 308 0.0/ 308 0.0
SEMA TR AT O e I R
100.0ff 100.0| 1000/ 100.0 0.0 0.0 0.0
mE 3 1 1 1 0 1 1
100.0ff 33.3| 333 333 00| 333| 333

144 HLI-DHEOERLGEDKERITHELBICLFRDILENTI D,

n [E3 F= ] DN | V8| #E | OFE | ~% Z 22 i3
N EER 2 BT | 3% | A | IBE | @EF D Iz ]
Ly x5 7 il BRI | VR | DU | | BB | g 1 %
Iz 15 n B | BT | E®D 7| Etic 0
I BiAR | & 2| o | &b 7| Bé
o 1~ )| | oN 3 D | —1F
- L . E | ANEE A x| 0B
1% D | F E | Mo % £ | e
E] % | B B/ | X3 xt & | A
2 Er LAy | Es Ed = 3
f# E L 28 a & S =
- » ) = L i 7
~ = 5 4 1= Iy >
) & iR I b E v
& 1K 212 75 93 61 26 42 84 48 39 10 31 12

100.0ff 354| 439, 288 12.3 18.4 4.7 14.6 5.7

—_
©
o2}
w
©
(=2}
N
N
(=2}

133@ e s _ 68 30 33 19 6 14 31 11 14 3 6 5
EAuiE Sl e 1000l 44.1| 485 279 88| 206| 456/ 162 206 44 8.8 7.4
- - 3 2 2 1 1 1 1 1 0 1 1 0

= L, K E? 1) .
BB LM T 100.0" 66.7| 66.7| 33.3| 333 333 333 333 00| 333| 333 0.0
FARIH—EREE LIS 22 11 10 10 6 6 9 12 7 2 4 1
hi- 100.0] 50.0| 455| 455 273 27.3| 409 545 318 9.1, 182 45
ERMESSERA L (FREET)  SHER 112 38 53 33 15 26 44 26 20 6 16 2
NIPTLEL LB T 1000f[ 339 473 295 134| 232| 39.3| 232/ 179 54| 143 1.8
. 0 0 0 0 0 0 0 0 0 0 0 0

=7 ; X —
FERERE LRI 0.0" 00/ 00 00 00 00 00 00/ 00/ 00 00 00
FEEALVD) -REEFEE 5 4 2 0 0 0 2 1 0 0 0 0
SELEZ SN 100.0[| 80.0/ 400 0.0 0.0 00| 400/ 200 0.0 0.0 0.0 0.0
B RMNZENEREA 53 17 19 12 9 12 16 19 9 3 8 3
(ADHD) &2 1SN T 100.0| 32.1| 358 226/ 17.0 226/ 30.2| 358 17.0 57/ 15.1 5.7
ZTOMDFEEENVDZEE 13 5 6 4 1 3 5 2 2 0 3 0
ZF1= 100.0 385 462 308 771 23.1| 385 154| 154 00| 23.1 0.0
. . 1 1 1 1 1 1 1 1 1 0 0 0

EEAWNTIEGE NS

RERH VTG T, 100.0" 100.0/ 100.0| 100.0| 100.0| 100.0| 100.0| 100.0| 100.0 0.0 0.0 0.0
mE 3 1 0 0 0 0 1 2 1 0 0 1
100.0]] 33.3 0.0 0.0 0.0 00/ 333 66.7| 333 0.0 00/ 333

113 =9



45 RIEOREZRE, HLEAKERLLEORERICHNE

RODENTEDHFIEL-TED,

n X i [ 7 E & | mE| = " z # 23
A i % B & 1t A A <F ) bl =]
- ) T i} H A - IR Y b = &
gl A . . 5 |\ wE | & 18 K
A . 7 % ) £ M B &
. i 2 Vi3 57 A | E# | K = %
53 b = = = 0| ® » z
5 ) 1l . X B#| X i3 &
) A + = T | BX | k& B M
5] v % LAY B £ <
%= A » E + | O 3
I i35 ) N A )
) 8 i3 2 8
57 =] [ F
8 . N
il L
B VAN
% A
=
=3
¥
& 1k 212 43 33 19 61 6 34 13 3 0 5 81 11
100.0] 20.3| 156 90/ 288 28| 16.0 6.1 1.4 0.0 24| 382 5.2
B35 N 0 0 0 0 0 0 0 0 0 0 0 0 0
Bﬁ[ﬁ;b\% SRENVEFIRR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FiIRD 1 1 0 0 0 0 0 0 0 0 0 0 0
3 =AY 5
g% FRESVEFR2E 1000 1000 00 00 00| 00 00/ 00 00 00 00 00 00
e 0 0 0 0 0 0 0 0 0 0 0 0 0
A :
SARREATNEF RSB 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SARANE FIRAR o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I 0 0 0 0 0 0 0 0 0 0 0 0 0
\AY :
SRRANEFIRSH o.o" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0 0 0 0 0 0 0 0 0 0 0 0 0
N A :
SR F RO 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 19 0 2 2 3 1 4 3 1 0 0 11 2
REFIRA 1oo.o|| 00/ 105/ 105/ 158 53| 211 158 5.3 0.0 00| 579/ 105
e 9 1 0 1 5 0 5 0 0 0 0 2 0
RAFIRB 100.0" 11.1 00| 11.1| 556 00| 556 0.0 0.0 0.0 00| 222 0.0
48 9 9 3 19 1 8 2 0 0 1 19 2
Rz BZ
RAEFIR 100.0" 18.8| 188 6.3 39.6 21| 167 4.2 0.0 0.0 21| 39.6 4.2
FEHELSVERBEALFIR 2 0 1 0 0 0 0 1 0 0 0 0 0
& 100.0 00| 500 0.0 0.0 0.0 00| 500 0.0 0.0 0.0 0.0 0.0
BHENSVERBEALFIRS 31 7 3 4 4 1 5 1 0 0 2 14 0
& 100.0|| 22.6 97| 129/ 129 32| 16.1 3.2 0.0 0.0 6.5 452 0.0
FEHEAVE R EELTFIRS 42 10 5 3 5 1 6 2 1 0 1 20 3
i 1000 238 11.9 71 119 24| 143 48 2.4 0.0 24| 476 7.1
61 16 15 6 24 2 6 4 1 0 1 16 2
= VALY
FoTLval 100.0" 26.2| 2456 9.8 393 3.3 9.8 6.6 1.6 0.0 16| 262 3.3
wE 4 0 0 0 1 0 1 0 0 0 0 1 2
100.0 0.0 0.0 00| 250 00| 250 0.0 0.0 0.0 00| 250/ 500
1332 T _ 68 17 12 6 23 2 12 7 2 0 1 24 3
ESiES B LB HS T 100.0| 250/ 17.6 8.8/ 338 29/ 176 103 2.9 0.0 15| 353 44
- - 3 1 0 1 0 0 0 2 1 0 0 1 0
= L P =4) u -
BitRE BRI LD HSh T 1oo.o|| 33.3 00| 333 0.0 0.0 00/ 66.7| 333 0.0 00| 333 0.0
FARIVA—IEIRRE LTS 22 6 6 3 4 1 4 4 2 0 2 7 1
nit= 100.0| 27.3] 27.3| 136/ 182 45 182 182 9.1 0.0 91| 31.8 45
IRARRERA (RIS D) - BRER 112 21 14 10 37 4 22 8 1 0 2 42 2
RIS LR EBHTEN T 1000 18.8| 125 8.9/ 330 36| 196 7.1 0.9 0.0 18| 375 1.8
- 0 0 0 0 0 0 0 0 0 0 0 0 0
= JFI P A —
SRR BRE LRSI 0.0" 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2EREALV(LD) -[REEFRE 5 3 0 0 0 0 0 0 0 0 0 2 0
fELEBISNT- 100.0 60.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 400 0.0
EERINSENEREA L 53 18 9 4 10 0 10 1 0 0 1 19 2
(ADHD) L2 Hrsn iz 1000 340/ 170 75/ 189 00| 189 1.9 0.0 0.0 19| 358 3.8
ZOMDFEEZEENLDEZEE 13 1 3 3 4 2 2 2 0 0 1 5 1
ZFf= 100.0 7.7)  23.1| 231 308/ 154| 154 154 0.0 0.0 7.7 385 7.7
. . 1 1 1 0 0 0 0 0 0 0 0 0 0
ZEENLNTILEI ST
RERONNTREGN T, 100.0" 100.0| 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wE 3 0 0 0 1 0 0 0 0 0 1 0 1
100.0 0.0 0.0 00/ 333 0.0 0.0 0.0 0.0 00/ 333 00| 333

114 R—3

o)

Z2(01BET B0 RES (C: FF)



